[BEN3K 06T 8H

€8 3R R 5 51

568 14 30 51| =0 % £H




[kn]
20
© =mm— © 15
o RS iR E
10 (CLAMPING CURVE )
/

0 10 20 30 40 50 60 70 [Nm]

ExfEOIZESE N TEE4E -
Best accessibility for 5-face machining operations.

Y550

Features

BIENZUKOEESHBERANR = - U~ Ai#l - CNCH BB KA RIBER L
Self Centring Precision Vise is suitable for 3 ~ 4 ~ 5 axis ~ CNC Rotary Table and Horizontal machining.

REHPLEBEMNBEIRFL0.01mm - ERIFNEET - B 7T EAREMANBKSZER -
Vise precision of its center repetition position is +0.01Tmm, extremely flat design, for maximum
utilization of the machine room.

R BB ASEREEIEHRCAS DL L - AR S MEY -
Slideway has high frequence heat treatment at HRC45" or more to keep the accuracy and its long use
life.

FEEHEH OERAZ MM E - AREIBEEEHRCSS’ LU E - olifiR A mEfER - S0 E g R M RE -
Vise hard jaw material is full Steel and heat treatment at HRC55" or more. Owing to its good design
to use both sides of jaw since it is exchangeable.

SRR - R LERMELEN NBOBEBN L TH EZIEH - SHE MRE -
Special design for the Self Centring Precision Vise to prevent work piece from bending during
clamping and machining. Thus, it has the best solution in clamping the work piece.



aiv

(&> | LM-VE-_SC [E &K i & it

CHAIN B LM-VE-_SC SELF CENTRING VISE

HEAOWAY

LEmMmmAa

LM-VE-127SC 127 127 42 33 3 0-46 0-51 63.5 63.5 96 101 15KN 55

LM-VE-153SC 127 153 42 33 3 0-725 | 0-79 76.5 63.5 96 101 15KN 6.7

LM-VE-210SC 127 210 42 33 3 0-122 | 0-127 | 1015 63.5 96 101 18KN 8.7
LM-VE-76102SC 76 102 35 21 25 0-45 0-49 127.5 75 96 - - -

(Z> I LM-VE-90SC B&K 0 &

CHAIN B | M-VE-90SC SELF CENTRING VISE

cermimA

LM-VE-90SC 90 151 60 17 5 18 0-60 40-100 15KN 4.00

« £ EAI Unit of Length (mm)

B766 €& FHAIN




(7> ILM-VE-_SC EghK i E it

CHAIN B | M-VE-_SCSELF CENTRING VISE

HEAOWAY

J3

F2 Jo
F1 J1

E4 J1

i
O|w|] #
>

ARSI E IRE I Using FDC60

LM-VE-60SC | 60 | 120 | 143 | 60 | 25 |125|125| - |175| - 23 | 18 | 0-50 38-85 - 15KN | 6.00
LM-VE-100SC | 101 | 240 | 260 | 80 | 40 | 18 | 18 4 35 | 31 | 20 | 22 | 0-90 | 70-160 [134-222| 15KN 16.0
LM-VE-160SC | 160 | 370 | 440 | 105 | 55 | 27.5|275| - |425]| - 70 | 22 | 0-200 | 86-285 - 18KN | 47.0

(7> JCC-QCP96-192 it = iE i1 88

CHAIN B CC-QCP96-192 QUICK-CHANGE BASE PLATE

HEAOWAY

LermmA

 NEW

| #E65) Example

©
©

QO
)
2/

@
~
©

~

| %% Feature

- #&82 LM-VE-127SC ~ LM-VE-153SC ~ LM-VE-210SC £ -Need to be used with LM-VE-127SC ~ LM-VE-153SCLM ~ LM-VE-210SC
- BEEM :+0.005mm -Precision of its center repetition position is + 0.01mm.
-ME 55 -Material : Alloy steel

CC-QCP96-192 192 156 150 100 50 100 96 19 13 ‘:"g?ﬂiﬂﬁ

aiv

« £E EAI Unit of Length (mm)

(- THAIN B747

HEAOWAY




(7> JLM-VE-_DCS & E = & o 5K O 1 4% 5= §H

CHAIN B LM-VE-_DCS MECHANICAL-TYPE DOUBLE SELF-CENTERING VISE

HEAOWAY

LEemimA

LM-VE-100DCS 101 310 410 95 40 23 60~170 220~305 30.0
LM-VE-130DCS 130 410 510 100 50 23 60~250 220~405 40.0
LM-VE-160DCS 160 490 590 110 55 23 60~320 230~485 60.0
LM-VE-200DCS 200 565 665 120 60 23 60~365 260~560 100.0

aiv

« £ EAI Unit of Length (mm)

B768 &g&> CHAIN

HEAOWAY




:E{q: { Fixed Stop
Workpiece

Fixed Stop Iﬂ:
Workpiece

+g ERANBWNFREREE ZRETEE -
EI:TJ' m\llj Designed with a hexagonal wrench for easy locking.

Features RIRBL R T R ER RN - R ERAREARZERETEK -
LM-OKYV to replace the workpiece and set the fast features, can flexibly use the design require-
ments to adapt to different changes.

FRARAB LEFE (=8 - e - A8 MEANESTEA) -
Suitable for different working platforms (three-axis, four-axis, five-axis and
horizontal).




(& JLM-OKV-_ Bk {R B % i

CHAIN B LM-OKV-_MINI VISE

HEAOWAY

cEemimA

B(max)
A(min)

g8

Sfrjjie AAI\BBS}Eg{QaBn%e V(\I/<e ?gsg ¢
LM-OKV-2425F Imm 24.5-25.5mm 11 15 215 - 0.04
LM-OKV-3742F —RREEE 5mm 37-42mm 15 21 32 - 0.1
LM-OKV-4751F 4mm 47-51mm 22 30 37 - 0.26
LM-OKV-2425C Imm 24.5-25.5mm 11 15 215 - 0.04
LM-OKV-3742C +=8 5mm 37-42mm 15 21 32 - 0.1
LM-OKV-4751C 4mm 47-51mm 22 30 37 - 0.24
LM-OKV-3742H , 5mm 37-42mm 15 21 32 12(M5) 0.1
LM-OKV-4751H A 4mm 47-51mm 22 30 37 18(M5) 0.24

=
—RRTE
Flat

S1LHANBTER - ERY TFREESEESN - BREE RIEMAARBRA - FETHR
HEHA - faliEn M EBE O] SR & - R EMERSERMNSMG -
Plane jaws are used when the Cross type creates high friction, Internal threads are attached
workpiece is a smooth plane. which ensures reliable clamping to the sides, making it quick
in any circumstances. and easy to use various addi-
tional pieces.

aiv

« £ EAI Unit of Length (mm)

B770 &g&> CHAIN

HEAOWAY




(> ILM-VE- _JD Z= [B% & 3 52 & #H

CHAIN B | M-VE-_JD SUPER HI-PRESSURE DOUBLE VISE

HEAOWAY
LEermrmaA
® g z
A I
@ e
F2 Fi. J
K|E2 hamg
E1] |
2 b o — o ® 2 S
D | — s I
-bl—ldﬁ B G
C

| %% Feature

- Z2[BJR 8kg/cm? Z1E[BR - BN 4000kgf Z & 3#5 - M3EF  -Only need 8kg/cm? of low-voltage source to achieve 4000kgf
77¢ 0-4000kgf OJ #& A EE SR B R EERR of super high gripping force, and this gripping force can be
adjusted from 0-4000kgf by using a pressure regulator.

LM-VE-530JD 160 | 530 | 682 90 58 3 30 15 | 152 18 168 | 0-100 | 145 | 4000kef 66.0

=g
() o o
A $:|
@ @ @ @
®|® é @ ‘. |
F2 J F1 J F2
EI -
© ¢ @ — o o o -
D .
RIR
B G
C
| 425 Feature
- NEDFB N RO EETEZ - aDERE DR 2R TEER -Having built-in floating pressing structure to provide downward
locking force to eliminate flotation of vise jaw and operational slope.
n =)
Weight
LM-VE-410JD 130 410 556 105 52 30 74 146 18 166 0-115 | 3200kef 440
LM-VE-510JD 160 510 656 105 55 30 82 146 18 168 0-115 | 4000kegf 69.0 2
w)

« £E E A7 Unit of Length (mm)

{z-THAIN B771

HEAOWAY




aiv

(> JLM-VE-_SD #515% 5 £ =it

CHAIN B LM-VE-_SD DOUBLE-CLAMPING PRECISION VISE

HEAOWAY

cenmnimA

| 4525 Feature

- AR RERERE - oIDIERSREME LY - IR EEKE -VIVith thée fas;double clamp Imecbhanlism, b(cj)th \Allorkpiltleces canbe
=N £ ogmE wF3 o , clamped at the same time, also be clamped unilaterally.
- FESHSHCIRFIZ A E - ASARIZRRSE HRCSS " DLE - BRI A -Vise hard jaw material is full steel and heat treatment at HRC55°or

fFA - 2B F R MERE moLe. OWIB% to its good design to use both sides of jaw since it is
moesmE | GT4ES = exchangeable.
- REASRHNBEES R\__ﬂu’%ﬁ SZEREER -The vise and the jaws have a fixed height and can be combined for use
- AlEHEKAE - ARBE 2 AR B at the same time.

-Lateral drainage slots. For drainage of coolant and chips.

LM-VE-100SD | 100 | 240 | 260 | 80 18 18 35 31 25 18 18 22 | 0-35 | 35-70 |66-100| 18.0

> | LM-VE-_D £ 3k 22 £ §H
CHAIN B LM-VE-_D DOUBLE-CLAMPING PRECISION VISE

HEAOWAY

LermmA

et e F o A
G .
L LD
H
. c |
| 42 Feature
- R A T E B ODERRE O _EFrIIhEE -Vise adopt downward locking structure to eliminate floating body
wi g N arEE - functions.

- O 1 SRS A RO 2 T4 -On the machining center with a variable of processing two parts.
- IEMEEEAYEE FCD60 -Spring of ductile iron FCD60.

LM-VE-100D 100 400 65 40 60 23 0-55 25.0
LM-VE-160D 160 500 85 60 66 23 0-75 50.0
« £ EAI Unit of Length (mm)

B772 €& FHAIN




LM-FRA 244 if 51| 5 fE S 4% €2

LM-FRA Flexible parallel vise

O O FEEZU - TJBTMERR

Reserved screw holes is convenient for optional jigs.

€ BEERRET - IEMEEY - REREEME
The rack design of push block improves the stability.

O EBEWR - BLLEEEE

Prevent chips from sticking in the vise by the plate.

6 REEEH ORI IR
Quick-fixed clamping block.

O B RIF—RETUERET - BRE - EFIREEEE
Independent push block is able to adjust and
shift conveniently.



ERE

Cutting Application

@WHEAT - U T BB S ZRaEER(E

3 FF
The application is flexible that both horizontal mills and

vertical mills are available.




(> JLM-FRA 38t 30 51 ¢ 1% 84

CHAIN B L M-FRA FLEXIBLE PARALLEL VISE

HEAOWAY
LM-FRA = LM-BE50( & J&& BASE) + LM-FRA-_B( & 7 # FIXED BLOCK) + LM-FRA-_A cemmea
( B3 BRIQUETTING)

B [@F 173 H5 %51 Single Parallel clamping series W

LM-FRA-A

LM-FRA-A

LM-FRA-A

LM-FRA-A

~—1//]001] 7]
1 Jooisnso] 7]

U ER 8 I [E E 38 28
At Spec. A—ty[ﬁe jB:r%fEtting B—tyE;Je FeEdif)Elock V(\Z |Ggsfzt
LM-FRA-48300-A 300 10.40
LM-FRA-48400-A 400 12.48
LM-FRA-48500-A 500 60 48 90 50 15 794 14.22
LM-FRA-48600-A 600 16.31
LM-FRA-48700-A 700 17.92
LM-FRA-60300-A 300 10.96
LM-FRA-60400-A 400 13.04
LM-FRA-60500-A 500 60 60 90 50 15 79.4 14.78
LM-FRA-60600-A 600 16.87
LM-FRA-60700-A 700 18.48
LM-FRA-48A(4PCS) LM-FRA-48B(1PCS)
LM-FRA-80400-A 400 19.87
LM-FRA-80500-A 500 22.63
LM-FRA-80600-A 600 80 80 95 60 15 99.4 25.28
LM-FRA-80700-A 700 27.86
LM-FRA-80800-A 800 30.51
LM-FRA-100400-A 400 23.05
LM-FRA-100500-A 500 26.60
LM-FRA-100600-A 600 100 100 95 60 15 119.4 30.05
LM-FRA-100700-A 700 35.46
LM-FRA-100800-A 800 38.99

2500 BUN (&) B M12T 18 R IEEl 8244 3 set $ A8 E MR IRAK 2 set

. Spec. under 500 attached with M12T nut and locking screw 3 set keyway interlocks and 2 set screw.

2600 DLE (&) Mt M12T 18 R HEIIR 4% 4 set SRAEE IR R IR4k 2 set

. Spec. above 600 attached with M12T nut and locking screw 4 set keyway interlocks and 2 set screw. « £E 11 Unit of Length (mm)

> >> >

aiv

e THAIN B775




(e> |LM-FRA- B 231k i B &

CHAIN B LM-FRA-_B MULTI-FOLDER VISE FIXED BLOCK

HEAOWAY

LenmnimA

£S5

#1% Spec. (KGS)
Weight

LM-FRA-48B 66 48 40.6 25 33 81 1.04

LM-FRA-60B 66 60 40.6 25 45 81 1.16

LM-FRA-80B 70 80 40.6 25 65 101 1.96

LM-FRA-100B 70 100 43.6 25 85 121 2.39

(> | LM-FRA-_A B33t & il i

cHAIN |l LM-FRA-_A MULTI-FOLDER VISE BRIQUETTING

HEAOWAY

el NEW
@i )
g MTI.O
o & —+ M6x1.0 @ é
-©- i
T A m—

#3115 Spec.
LM-FRA-48A 66 48 40.6 25 33 81 0.98
LM-FRA-60A 66 60 40.6 25 45 81 1.09
LM-FRA-80A 70 80 40.6 25 65 101 1.86
LM-FRA-100A 70 100 43.6 25 85 121 2.29

aiv

« £ EAI Unit of Length (mm)

B776 &g&>CHAIN

HEAOWAY




(> ILM-BE50 %3 = [ $f B B

CHAIN B | M-BE50 MULTI-FOLDER VISE BASE

HEAOWAY

LermmA

[EE NEW
s |

D #0.005
R
28

11.9
2-M5x0.8 2-¢12H7

L

b 060 & 66 Gob oG

=
G H
78+ Spec. A B C D E G H Ev%e(igthS)
LM-BE50-60300 300 74.9 150 5.44
LM-BE50-60400 400 99.9 200 7.52
LM-BE50-60500 500 60 46 2 0.711 99.9 300 9.26
LM-BE50-60600 600 99.9 400 11.35
LM-BE50-60700 700 99.9 500 12.96
LM-BE50-80400 400 200 10.47
LM-BE50-80500 500 350 13.23
LM-BE50-80600 600 80 66 2 0.711 69.9 400 15.88
LM-BE50-80700 700 400 18.46
LM-BE50-80800 800 600 21.11
LM-BE50-100400 400 200 13.6
LM-BE50-100500 500 350 17.14
LM-BE50-100600 600 100 86 2 0.711 69.9 400 20.56
LM-BE50-100700 700 400 23.93
LM-BE50-100800 800 600 27.47
.
(- JLM-DB EH %1
cHAIN ll LM-DB DATUM PLATE
LermrmA

£ (KGY)

3
#74% Spec. Weight

LM-DB-5006-A 50
LM-DB-6006-A 60

s AN INESESE 774 EEHED
Usage please refer to the application example of page 774

12 20

0.06

aiv

« £E EAI Unit of Length (mm)

e THAIN B777




aiv

(C> ] LM-FRA 3830 502 (2 8 52 £ 92 1% &5

CHAIN B LM-FRA FLEXIBLE PARALLEL VISE CLAMPING RANGE

HEAOWAY

Fig.3 Fig.4

= AT {E5E Biggest range of workpiece

#1& Spec. —{BI# 1workpiece @ “{ETIf 2workpieces =BT 3 workpieces &I 4 workpieces
Fig.1 Fig.2 Fig.3 Fig.4
LM-FRA-048300-A 168 50 12 -
LM-FRA-048400-A 268 100 44 16
LM-FRA-048500-A 368 150 78 42
LM-FRA-048600-A 468 200 112 66
LM-FRA-048700-A 568 250 144 92
LM-FRA-060300-A 168 50 12 -
LM-FRA-060400-A 268 100 44 16
LM-FRA-060500-A 368 150 78 42
LM-FRA-060600-A 468 200 112 66
LM-FRA-060700-A 568 250 144 92
LM-FRA-080400-A 260 94 40 12
LM-FRA-080500-A 360 144 72 36
LM-FRA-080600-A 460 194 106 62
LM-FRA-080700-A 560 244 140 86
LM-FRA-080800-A 660 294 172 112
LM-FRA-100400-A 260 94 40 12
LM-FRA-100500-A 360 144 72 36
LM-FRA-100600-A 460 194 106 62
LM-FRA-100700-A 560 244 140 86
LM-FRA-100800-A 660 294 172 112

« £ EAI Unit of Length (mm)

B778 &g&> CHAIN

HEAOWAY




(> ] LM-FRA BT 5I SR [ a 35 45 E

CHAIN LM-FRA FLEXIBLE PARALLEL VISE CLAMPING RANGE

HEAOWAY

Fig.1 Fig.2

Fig.3 Fig.4

AT #&EE Biggest range of workpiece

718& Spec. FAET 4 5workpieces  N{EIILfF 6 workpieces BT 7 workpieces  J\fEI L% 8 workpieces
Fig.1 Fig.2 Fig.3 Fig.4

LM-FRA-048300-A - - - -
LM-FRA-048400-A - - - -
LM-FRA-048500-A 20 6 - -
LM-FRA-048600-A 40 22 10 -
LM-FRA-048700-A 60 38 24 12
LM-FRA-060300-A - - - -
LM-FRA-060400-A - - - -
LM-FRA-060500-A 20 6 - -
LM-FRA-060600-A 40 22 10 -
LM-FRA-060700-A 60 38 24 12
LM-FRA-080400-A - - - -
LM-FRA-080500-A 16 - - -
LM-FRA-080600-A 36 18 4 -
LM-FRA-080700-A 56 34 20 8
LM-FRA-080800-A 76 50 34 20
LM-FRA-100400-A - - - -
LM-FRA-100500-A 16 - - -
LM-FRA-100600-A 36 18 4 -
LM-FRA-100700-A 56 34 20 8
LM-FRA-100800-A 76 50 34 20

aiv

o f=EE I Unit of Length (mm)

e 2nN B779




(> | LM-VE-_J 2 [B i i 45 2% 5 8

CHAIN B LM-VE-_J PNEUMATIC MC PRECISION&ANGLE LOCK VISE

HEAOWAY
cermmeaA
F2 Fs J F3 F1
J3 u
of It Ef
n
o ° ° “jl 5
[
H
B G
C
o Hﬁ.
76
A [ e .
.$- L] L]

LE-VE-130x150J  LE-VE-180x200J
LE-VE-160x160J  LE-VE-200x200J
LE-VE-160x250J  LE-VE-200x300J

8 BIBELNTEEEAT  BORERIETHSIEE
Forward output pressure can product two-way power
7 for reducing main body from becoming deformed and the
o working parts will be more accurate.
z 6 YERTELEARE T2 - TEREOR DI TIEER o
m Conical shape can produce an angle lock power for prevention
% 5 of cutting plate movement.
=
o
T 3
g I
m 2 - E [|
AIJ 1 § — | I 1
i | <]
B o —
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 — MR SE (§ﬁl%§ﬁ)
RISTIPOWER (ke)  —= R et ok
J I J2 Js
e
- 1] | - I
ry N ﬂ] ‘[|] N N —1 ‘[|] ry N —T— ﬂ]
[ [ [

| 425 Feature
- ZR[EJR 8kg/cm® Z1EEER - BITJ#E 9000kgf BB IF N - Mk -Even the air source at low pressure 8kg/cm? which can be achieved

¢ 0-9000kgf oI3EHAER R B AR E super high gripping force can be adjusted freely by pressure
-FERERTE 157 KISZEHEEEOE 8mm - WaAREFHEE regulator.
& OERSHARMELD TG 222 hE - 2680R -The shifting speed is only 1.5 sec. with safety range: 8mm, also

- BNTIRAE  AREENEE TR ERME - AEBER - BIO BT equipped with safety line on hand wheel to easily identify with eye
whether if the safety distance of workpiece clamping is exceed.
- Six faces of vice body be super grinding & pre-setting pad slot,
and can be processed vertically without jig fixture.

LM-VE-100-100J | 100 [ 320 | 435|100 | 48 | 100 | 85 | 15 | 125 | 16 | 45 0-100 95-220 100-200 | 200-300 | 3200kgf 290

LM-VE-130-150J | 130 | 380 | 505 | 105 | 55 | 110 | 85 | 15 |125| 18 | 45 0-150 95-250 110-275 | 200-380 | 6000kgf 40.0
LM-VE-160-160J | 160 | 400 | 525 | 105 | 58 | 120 | 85 | 15 | 125| 18 | 45 0-160 95-260 120-295 | 210-400 | 6000kgf 50.0
LM-VE-160-250) | 160 [ 490 | 615 | 105 | 58 | 120 | 85 | 15 | 125 | 18 | 45 0-250 95-350 120-395 | 210-490 | 6000kgf 550
LM-VE-180-200J | 180 | 460 | 585|110 | 63 | 130 | 90 | 18 | 125| 18 | 72 0-200 100-300 | 130-350 | 220-460 | 9000kgf 720
LM-VE-200-200) | 200 [ 470 | 595|110 | 63 | 140 | 90 | 18 |125| 18 | 72 0-200 100-310 | 140-360 | 230-470 | 9000kgf 80.0
LM-VE-200-300J | 200 | 570 | 695|110 | 63 | 140 | 90 | 18 | 125| 18 | 72 0-300 100-410 | 140-460 | 230-570 | 9000kgf 90.0

aiv

« £ EAI Unit of Length (mm)

B780 &g&> CHAIN

HEAOWAY




(g | CHW-_B # = 15 % 5 8

CHAIN B CHW-_B MULIT-FOLDER VISE FIXED BLOCK

HEAOWAY
cemma
. ||
|| i
Eefe
o[liE ¥
H o o o ID
|
=== |
~— B
[
- J (DR L E— .~ b | Js :
| |
| %25 Feature
- BRI LEFR A T L2 BERE - The unit had prevent lifting structure.
- GBS B AR R T E RS - wgtﬁg{:coe-charged organization, is suitable for clamping the soft

CHW-100B 100 400 490 85 45 80 110 23 18 200 230 260 340 30.0
CHW-130B 130 450 540 95 50 85 135 23 18 240 285 320 405 43.0
CHW-160B 160 550 640 100 60 103 200 23 18 300 380 400 500 610
CHW-200B 200 600 690 110 65 108 220 23 18 340 438 470 578 84.0

(E> | LM-VE-_B i = i st

cHAIN B LM-VE-_B MULIT-FOLDER VISE FIXED BLOCK

HEAOWAY

LEemima
: ||
e J
o[l{e ¥
) ) ) |
I ?
c =l ‘ '
B
C
|
J J1 Jo | J3 |

| 4% Feature

- BRIt E - High rigidity type.
- BE#mEREES T - BYHIGERMNT - Holding work-piece firmly in single and multiple vises setup.
- RHASERSRANRAEZESE - MEHER  FAFER - Rigid and high tensile casting of ductile iron.
Jaw Opening(Max.) 58
(KGS)
J1 J2 J Weight
LM-VE-100B 101 340 430 85 48 80 125 16 125 190 230 320 26.0
LM-VE-130B 131 405 495 95 55 85 150 180 240 290 380 39.0
LM-VE-160B 161 495 585 105 58 100 165 18 240 320 360 470 57.0
LM-VE-200B 201 570 666 110 63 108 190 280 360 420 540 86.0

(- THAIN B731

HEAOWAY

aiv



aiv

(& | LM-VE-_C A& E X 5 2 %t s 8

CHAIN
HEAOWAY

LM-VE-_C MECHANICAL-TYPE PRECISION VISE

L
Lo,

| .VE'MD'(:

| 4525 Feature

- AR EF S - IISIE N AMMES) - Eit THRIEEE
) - XA REIESRR—EBE - R TR HERAER

he H
L Ws;

e
Tep ool b ]
0|0 i D

o A ==

c = 5
C
J | J1
] s r

- This unit had prevent lifting structure, when clamping, downward
power also gearing, so the workpiece and movable parts lift very
small, the body and soild jaw is a combination structure, it
does not tilt.

LM-VE-100C 100 310 400 95 45 70 110 23 18 150 225 - 28.0
LM-VE-130C 130 410 500 100 50 80 135 23 18 250 330 - 46.0
LM-VE-160C 160 490 580 110 55 85 150 23 18 300 385 - 60.0
LM-VE-200C 200 565 655 120 60 100 220 23 18 350 450 - 100.0
- X =
= _h‘. (Y .'\
| [
- BRESHRERHEEORRE - - 2EEHEHER - O - BESHREEAEMEN
oEERFRE 2 TH B LEETI BB P S [ RERY BN A HO - IRZIRERERIH
-The jaw more deeper than R -Double opening than
those of same grade -Chip cover adopted, those of same grade vise.
vise.Can clamping higher preventing chips falling into Can easy clamp longer
work piece correctly. causing bad motion. work piece.
TREERF Standard Accessories:
1iEF=4A 1.Handle-1 set
2.8 21E 2.Guide key-2pcs

B782 €E&: AN

Méx10L 1244 2 32
3. RiHpBRE
4. RIHEELE 4 R)

Screw-M6x10Ix2pcs
3.Chip cover

4Vise positioner

SRIRR 4 (508 ): Optional Accessories:
1. %5RlE O (Purchase separately)

2. REAEMAR
3. REMOHOSA (L)

1.Special application jaw plates.
2Vise positioner

3.0pening jaw plates

« £ EAI Unit of Length (mm)



(7> |LM-VE-_S 8 hE B 1K it

CHAIN B | M-VE-_SSUPER OPEN TYPE VISE

HEAOWAY
LEmmaAa
F J
E
AP o[ Fymy K] ]
o[o I D
00 le »Inkl
G 7T
C
- J » J1 .
] IJ]E sl C P]m

| 4525 Feature

- NER L Eois) - RISBE T AN AIES) - B T4 Kol Ehge - This unit had prevent lifting structure, when clamping, downward
BB - YRR EEE S — e . UL TRy L SH AR IR power also gearing, so the workpiece and movable parts lift very
- X X small, the body and soild jaw is a combination structure, it
does not tilt.
BE=
(KGS)
Weight
LM-VE-100S 100 310 435 95 45 70 110 23 18 140 200 4000kgf 30.0
LM-VE-130S 130 410 535 100 50 80 135 23 18 230 315 4000kgf 48.0
LM-VE-160S 160 490 615 110 55 85 150 23 18 300 385 5000kgf 62.0
LM-VE-200S 200 565 690 120 60 100 220 23 18 350 450 5000kgf 105.0

1 800kgf
2 2000kgf
8 3000kgf
4 4000kgf
5 5000kgf
- ZEHEERERE - O - RESHREEEMEN - %ﬁf’?ﬁ%?ﬁﬂiﬁ%fﬂij&{]ﬁ@ﬁ
LEEIHIB RS BRI EER R MO - JRGIGFRELH %WE@%%E@%;%Q@FH%
-Chip coveradopted, -Double opening than [BE ) (407%) 345 S K R AR B
preventing chips falling into those of same grade -New development
causing bad motion. vise.Can easy clamp patened,oil-freepowerful
longerwork piece. mechanical boost system.
Which gives greater clamping
and never collapsing
pressrue. TRAERR 4 - Standard Accessories:
1LiBFS4A 1.Handle-1 set
2. EF# 2@ 2.Guide key-2pcs
M6x10L 1844 2 S Screw-M6x10Ix2pcs
3. RiHMERE 3.Chip cover
4. RIHEER 4 R 4\Vise positioner
ERIFHE (88 ): Optional Accessories:
1. %5 Rl A (Purchase separately)
2. RIHENI=R 1.Special application jaw plates.
3. RROHOZA (L)) 2Vise positioner

3.0pening jaw plates

aiv

o f=EE I Unit of Length (mm)

& 2nN B783




(> .M-VE- P Eh=EH

CHAIN B LM-VE-_P MECHANICAL POWER VISE

HEAOWAY
CEemma
A md
=
LF J |
\ l \
: [
[’ p
R
T
B
C
| %) Example
J
— —
W/ I :
- - 1= =
Js
e
| 4525 Feature
- E ORI R -Mechanical power structure.
-MEERSE - ARO C BEIRERS N -The total length is short, the big aperture, rotate the spanner to

reduce effort.

LM-VE-100P 101 | 400 | 490 85 48 80 125 16 150 | 200 | 240 | 330 3000kgf 27.0
LM-VE-130P 131 | 465 | 555 95 55 85 150 18 230 | 250 | 300 | 390 3500kgf 40.0
LM-VE-160P 161 | 555 | 645 | 105 58 100 | 165 18 300 | 330 | 370 | 480 4000kgf 60.0
LM-VE-200P 201 | 630 | 720 | 110 63 108 | 190 18 340 | 370 | 430 | 550 4500kgf 81.0

aiv

« £ EAI Unit of Length (mm)

B784 €g&> CHAIN

HEAOWAY




(> | CHW-_P 312 A 5 81

CHAIN B CHW-_P POWERFUL-TYPE PRECISION VISE

HEAOWAY

LernmmA

+Hez

o

)

o
O —f=

J J1 J2 } J3 |

| 4525 Feature

- MBRLEFRAS T B ¥ AREERE - The unit had prevent lifting structure.
- 2L B AE - Mechanical power structure.
58
(KGS)
Weight
CHW-100P 100 | 400 | 530 | 85 45 80 | 110 | 23 18 | 200 | 230 | 260 | 340 4000kgf 35.0
CHW-130P 130 | 450 | 580 | 95 50 85 | 160 | 23 18 | 240 | 285 | 320 | 405 4500kgf 48.0
CHW-160P 160 | 550 | 680 | 100 | 60 | 103 | 200 | 23 18 | 300 | 380 | 400 | 500 5000kgf 66.0
CHW-200P 200 | 600 | 730 | 110 | 60 | 108 | 220 | 23 18 | 340 | 438 | 470 | 578 5500kgf 104.0

(| CHW- PLBZEAXES (BER)

ain ll CHW-_PL POWERFUL-TYPE PRECISION VISE(LENGTHEN)

HEAOWAY

cemma
e [
e —
o E
H To B o _l_
:rﬂ' | i
B
C |
., —— | = | | L |

| 4% Feature
- & AFO 750mm - Max. opening capacity 750mm.

CHW-160PL | 160 | 1000 | 1130 | 105 | 60 103 100 23 18 750 850 890 1000 | 4400kgf | 108.0
CHW-200PL | 200 | 1100 | 1230 | 110 | 60 108 220 23 18 840 940 990 1100 | 5500kgf | 145.0

aiv

€G- THAIN B785

HEAOWAY




aiv

e

CHAIN
HEAOWAY

CHW-_V BEI;

CHW-_V HYDRAULIC&ANGLE LOCK VISE

B2 {5 2[R §H

I

J e ——

1 4

n
2 5
i Loz Np==ill

3 6

= O ru_?;n:\ﬂ
O

| 4% Feature

cenmnimA

J2 I

X 15 BRI E 5% Accuracy Testing Standard

REESIE

Item
BENEZFTE
Sliding surface of vise parallel to
bottom of vise body.

FREHERR

JIS A& 1 4R
JIS Grade 1

0.020 100mm

WE nE. nLF _J

Guaranteed

0.010 100mm

RIFAFEOBRTHZFTE
Max opening test block parallel
to bottom of vise body.

0.050 100mm

0.030 100mm

R EHREERRORZEAE
AIE

Keyways on bottom of vise
square to clamping surface of
jaw plate.

0.020 100mm

0.015 100mm

TERERZFTE
Top of rectangular test block
clamped tightly by jaw parallel to
bottom of vise body.

0.030 100mm

0.020 100mm

MR ORBEFTE

The parallelism of both jaw plate.

0.020 100mm

0.020 100mm

EHAVETFEZEAE
Vise side stand square to the
work bench.

0.020 100mm

0.010 100mm

- BMAOME |JﬁiH2K“1§ﬁHE§HkE%{bﬁﬁ (FCD60-60kgs/mm?)

RN - MENS -

- RHEASBEEILE(EREIE HRCA5 DL - JRFSRAME Y

RIEE

- Rigid material-vise body of ductile iron FCD60 JIS
(equal to GGG60) with 60 kgs/mm2 or 80000 psi tensile
strength.

- Slide surface of vise flame with harden treatment up to HRC45° and
keeps up wear and maintain abrasion resistance for long.

CHW-100V 101 | 340 | 470 85 48 80 125 16 125 190 | 230 | 320 4000kgf 27.0
CHW-130V 131 | 405 535 95 55 85 150 18 180 | 240 | 290 | 380 5000kgf 40.0
CHW-160V 161 | 495 | 625 105 58 100 | 165 18 240 | 320 | 360 | 470 5500kgf 58.0
CHW-200V 201 | 570 | 700 110 63 108 190 18 280 | 360 | 420 | 540 6900kgf 87.0

B786 €& FHAIN

R EEAI Unit of Length (mm)




(e | AH R = 3 B 5 h

CHAIN AH HYDRAULIC PRECISION VISE

HEAOWAY

LernmmA

X Y
AH-4 | 170 (440|525 | 95 | 36 | 80 | 95 | 147 | 170|105 | 135 | 58 0~57 55~114 | 112~170 | 2500kgf 210
AH-5 | 207 | 550|670 (120 | 48 | 97 | 107 | 195|220| 130 | 175|705 0~73 72~146 | 145~220 | 3500kgf 38.0
AH-6 | 225 (620|970 |135| 53 | 116 | 117|210 | 300 | 150 | 182 |82.5| 0~100 98~200 | 198~300 | 4500kgf 53.0
AH-8 | 280 | 680 | 900 | 162 | 62 | 160 | 150 | 260 | 300 | 200 | 260 | 100 | 0~100 99~200 | 198~300 | 8000kgf 95.0

> | LM-VE-_H 5 =t 58 B2 5 $H

cHAIN Bl LM-VE-_H HYDRAULIC & ANGLE LOCK VISE

HEAOWAY

cermmA

-

E
LI D L 11_\_ J19 )& Jaa}a

H— ST T
b— b8 |
Cc
M
| 4525 Feature
- KEMERIKBEE -The body is made of ductile iron.
- BAEREENRUEELBE THEZD - IEBED EMIEER -Down thrust “semi-sphere segment” mechanism-eliminates
- EIHASBEEILIEEHEIE HRC 45°LL F - TR R AME 4 lift and work tilt.

-Vise bed flame hardened to HRC 45° and keeps up wear and maintain
abrasion resistance for long.
-Max. hydraulic clamping force 4000kg.

1712580 Stroke Opening g5
(KGS)
J1 J2 J3 Weight

LM-VE-125H | 130 | 266 | 505 | 72 55 | 180 | 32 | 280 | 190 | 160 | 570-795 0-55 | 55-130 [130-220| 375
LM-VE-160H | 160 | 320 | 605 | 82 58 | 195 | 35 | 334 | 240 | 192 | 625-935 0-58 | 58-160 |160-310| 57.4
LM-VE-200H | 200 | 420 | 700 | 100 | 63 | 265 | 50 | 420 | 280 | 240 | 725-1035 | 0-63 | 63-200 |200-310 94.5

RIBE
- HEH B AT /1A 4000kg

i N S
Weight
LM-VE-125H-B 280 266 32 12.0 A
LM-VE-160H-B 330 310 35 16.0
LM-VE-200H-B 375 355 40 16.0
X ERER Optional chassis. B JQL « £Z B A Unit of Length (mm)

(> THAIN B787

HEAOWAY

aiv



(7> 1)LB &4 = 5 B A 5 o 8t

CHAIN B JLB UNIVERSAL HYDRAULIC TILTING VISE

HEAOWAY

LenmnimA

B2
(KGS)
Weight
JLB-40 100 177 36 0-170 2540 23.0
JLB-60 154 237 53 0-300 4400 60.0

(G- |LM-VE-_U a8 == 8

cHaiN ll LM-VE-_U TILTING VISE

HEAOWAY

LermmA

B
(D))
Weight

HEEE LSS
Adjustable Angle Power

5500kgf

aiv

« £ EAI Unit of Length (mm)

B788 {g&> CHAIN

HEAOWAY




(| & E = s

CHAIN B FIXED ANGLE VISE

HEAOWAY

LernmmA

AV-4 100 320 65 36 100 20.0
AV-6 150 430 72 46 140 41.0
AV-8 200 600 85 62 190 73.0
AV-12 310 - 125 320 125.0
X AV-12 #E#& AV-12 no chassis.
(> | K 235 B 15 8
cHAIN l K-TYPE MILLING VISE
cemma

77 Z
( T |<_>‘J |
Nirw 0w I —
[T I
WL AL D] ' £ ||TTE'
N / | \
[ : |
- C .
h !
=
D E J (KGS)
Weight
KV-4 100 295 55 30 65 9.00
KV-6 150 460 65 40 114 28.0
KV-8 200 620 82 58 150 53.0

« £E E A7 Unit of Length (mm)

& nN B789

aiv




aiv

e leaXaEEH

CHAIN B FIXED ANGLE VISE

HEAOWAY

LenmnimA

(E=|LM-PM & 81 50 = 7 5t

cHAIN ll LM-PM VISE PRESSURE GAUGE

HEAOWAY
| %) Example 1 cemma
i X \ -
w
'
*
| . I

| 4525 Feature
-HNERHBHE  BEEETFERERE -Accurately measure the pressure of the vise clamping force. .

LM-PM-1000 120 50 28 50 2 140 70 1.16

od EEES:YE:

CHAIN o ADJUSTABLE ANGLE PLATE

HEAOWAY
| 261 Example
5’%
é— - mmoﬂﬂ
&z d"%WWW-I}‘.“’”'m‘m‘m\w . T
. @ 2 3p 40

| L |

s
(KGS)

Weight
AP-1 102 46 47 1.50
AP-2 102 30 47 1.00
AP-3 75 25 32 0.50

« £ EAI Unit of Length (mm)

B790 &g AN




Cl -IAIN
HEAOWAY

Ok (CHW-_B - CHW-_P &R )
JAW PLATE (APPLICABLE CHW-_B + CHW-_P)

LernmmA

@'@w°ﬁh

X 1REC Standard accessories

MRS

Spec. A B C D
J1-100 70 98 25 48 15 M8 1.06 J2-100 70 98 25 48 15 M8 1.06
J1-130 100 128 25 53 15 M8 1.54 J2-130 100 128 25 53 15 M8 1.5
J1-160 100 158 25 63 18 M10 2.7 J2-160 100 158 25 63 18 M10 | 2.66
J1-200 120 198 28 63 18 M12 | 3.38 J2-200 120 198 28 63 18 M12 | 3.00
218 . —AML Qty: two piece per set #= : — MR Qty: two piece per set
e

z

2 5 4 Y - W

X P Optional accessories

X ¥ Optional accessories

el s c o £ F G
eight
J3-100 | 70 | 98 | 25 |48 |30 | 25| - |25 | M8 | 0.96 J4-100 70 98 25 48 30 M8 -
J3-130 (100|128| 25 | 53 [ 30 | 25| 12 | 25 | M8 1.38 J4-130 | 100 128 25 53 32 M8 -
J3-160 [100|158| 25 | 63 | 30 | 25| 12 | 27 |M10| 1.98 J4-160 | 100 158 25 63 32 M10 | 24
J3-200 [120(198| 28 | 63 | 34 | 30 | 12 | 30 [ M12| 278 J4-200 | 120 198 28 63 40 M12 -
S —#H—1R Qty: one piece per set HE . — MR Qty: two piece per set

J5-100 | 70 98 25 58 24 | M8 | M12 1.9 J6-100| 70 | 98 | 25 | 48 | 15 | M8 | 5 5 1.02

J5-130 | 100 | 128 | 25 63 24 | M8 |M12 | 3.28 J6-130| 100 | 128 | 25 | 53 | 15 | M8 | 5 5 1.48

J5-160 | 100 | 158 | 25 73 24 | M10 | M14 4.4 J6-160| 100 | 158 | 25 | 63 | 18 |[M10| 5 5 2.64

J5-200 | 120 | 198 | 28 77 24 | M12 | M16 | 5.82 J6-200| 120 | 198 | 28 | 63 | 18 |M12| 5 5 3.28
S —HMR Qty: two piece per set HE . — MR Qty: two piece per set

aiv

« £E E A7 Unit of Length (mm)

(- THAIN B791

HEAOWAY




aiv

iz I ’E O# (LM-VE-_B « LM-VE-_P - CHW-_V &)

|I1:EI;\I|:|AWIAI$ JAW PLATE (APPLICABLE LM-VE_B * LM-VE-_P + CHW-_V)
cemma
4 el [| U i— ol ==l
A ~H<E = E =
B
]
(KGS)
Weight
HJ - 100 60 100 22 48 15 1.04 LJ-100 60 100 22 48 15 -
HJ - 130 90 130 25 55 15 158 LJ-130 90 130 25 55 15 -
HJ - 160 90 160 25 58 15 1.50 LJ-160 90 160 25 58 15 -
HJ - 200 120 200 28 63 18 - LJ-200 | 120 200 28 63 18 -
= —HMR Qty: two piece per set HE . — M Qty: two piece per set
F |
‘ Oy
0] — ¢
2 R AECH
% oj T - — E
A E = LADI ®)
B © - B >

X P Optional accessories

R A B D E F G

Spec.

SJ-100 | 60 |100| 22 | 48 [ 15| 5 | 5 T-100 | 60 | 100 | 22 64 21 ]
$J-130 | 90 [130| 25 | 55 [ 15| 5 | 5 | 50 | 10 T-130 | 9 | 130 | 25 59 24 | 334
SJ-160 | 90 [160| 25 | 58 | 15 | 5 | 5 | 53 | 10 T-160 | 90 | 160 | 25 74 24 }
$J-200 |120|200| 28 | 63 | 18 | 5 | 5 | 58 | 13 T-200 | 120 | 200 | 28 88 31 }

= . A . H
HE : — MR Qty: two piece per set = —#HmMIE Qty: two piece per set

== YT Ee e e,

120° E B
@ @ t X 2Efc Optional accessories
=ro
O L
A g A B C D E F
B FJ-1002 60 100 22 63 21 | M10
. _ , FJ-1003 60 100 22 73 23 | M10
X %EEOpnonal accessories FJ-1004 60 100 29 48 48 M10
5’%22 A B C F G H FJ-1005 60 | 100 | 22 63 48 | M10
i FJ-1301 90 | 130 | 25 55 15 | M10
VJ-100 | 60 | 100 | 22 | 48 | 30 | 120° | 13.9 | 208 F-1302 % 130 25 73 23 | M10
VJ-130 | 90 | 130 | 25 | 55 | 32 | 120°| 13.9 | 31.2 FJ-1303 90 130 25 103 30 | M10
VJ-160 | 90 | 160 | 25 | 58 | 32 | 120° | 156 | 29.4 FJ-1304 90 | 130 | 25 63 48 | M10
VJ-200 | 120 | 200 | 28 | 63 | 40 | 120° | 12.1 | 24.6 F)-1305 20 130 25 73 48 | M10
#H = —#H—3 Qty: one piece per set g%z% A B C D E F
FJ-1601 90 160 25 58 15 | M10
FJ-1602 90 160 25 73 23 | M10
FJ-1603 90 160 25 103 30 | M10
FJ-1604 90 160 25 63 48 | M10
FJ-1605 90 160 25 73 48 | M10
FJ-2001 90 200 28 63 18 | M12
FJ-2002 90 200 28 103 30 | M12
FJ-2003 90 200 28 123 37 | M12
FJ-2004 90 200 28 63 63 | M12
FJ-2005 120 | 200 28 102 63 | M12

2 —#MLE Qty: two piece per set « £Z B Unit of Length (mm)

B792 €& AN




(G- ]| SC-68 {EH R M B RTER

CHAIN B SC-68 STANDARD INTERCHANGEABLE LIVE CENTER

HEAOWAY

LermmA

= ~ d
o5l | &
la
I3 I2 1
L
| 452 Feature
- ﬁ@ﬂ@lﬁ'é ' $E§%§g% - Characteristic of waterproof and heat dissipation.
- Ol E R RIEINE A - Regular oiling can increase the service life.
- JESRFERA SKS2( &4 ) - Center adoption is made of SKS2 (tool steel)
- TR EAERFE S45C - Center mandrel is made of S45C
- FREEIBE 8y - Static accuracy: 8p.
A IS4 5=
Included rpm d2 (KGS)
Accessories Weight
SC-68H-MT4 MT4 G# 4500 199 96 58 33 13 64 31.267 58 31.6 2.24
SC-68H-MT5 MT5 G# 4500 226 120 58 33 13 64 44.399 58 31.6 3.10

ZHE G A (TERD A )G set in drawing Medium for rotary center

68H-6A 68H-8A 68H-10A 68H-15A 68H-35A 68H-A

(> I MRC-MT SERIER (1B

CHAIN STANDARD LIVE CENTER

HEAOWAY

cermmA

' L
| 4525 Feature
- BFKINES | RBSHG Characteristic of water issipati
o e e 2= - proof and heat dissipation.
- T@F\\H IS qDEﬁE% 3 - Regular oiling can increase the service life.
- [BRDE R IAERFER A SKS2( JJE S ) - Center mandrel and center adoption are made of SKS2 (tool steel)
- FRREIBE (<5 - Static accuracy: <5p
5=
(KGS)
Weight
MRC-MT2 MT2 2800 171 69 52.5 43 49 17.78 35 1.60
MRC-MT3 MT3 2000 192.5 97 52.5 43 49 23.825 35 1.90
MRC-MT4 MT4 1500 213 117.5 52.5 43 49 31.267 35 2.30
MRC-MT5 MT5 1000 251.5 147 52.5 52 59 44.399 45 4.60 >
MRC-MTé6 MTé 800 - - - - - 63.348 - - 6

o f=EE I Unit of Length (mm)

& RN B793




aiv

(G> | SC-69 mE R m A ER

CHAIN B SC-69 STANDARD LIVE CENTER

HEAOWAY
cemma
d
l4 I2 1
I3
L
| 4525 Feature
- BFEKINEE - REESEIER - Characteristic of waterproof and heat dissipation.
- O B BRERIENNE S - Regular oiling can increase the service life
- TBLRDBRERF SUJ2 - Center mandrel is made of SUJ2.
- BFRRIEE Sy - Static accuracy: 5p

SC-69M-MT4 MT4 4500 210 96 58 42 14.5 64 31.267 31.6 1.86
SC-69M-MT5 MT5 4500 237 120 58 42 14.5 64 44.399 31.6 246

(2> || SC-70 125 7 4 9y /3 5 38 =X T 2R

cHAIN [l SC-70 STANDARD EXTENDED LIVE CENTER

HEAOWAY
Cemma
d
Q|5 3 4@
la I2 I1
T
I3
L
| 48 Feature
- BRHKINEE - K3ESEE - Characteristic of waterproof and heat dissipation.
- Ol B ERERIENE RS m - Regular oiling can increase the service life.
- JERLERERA SUJ2 - Center mandrel is made of SUJ2.
- BERRHSE 5p - Static accuracy: 5p.
=
(KGS)
Weight
SC-70L-MT4 MT4 4500 224 108 58 58 11.5 64 31.267 315 2.24
SC-70L-MT5 MT5 4500 251 135 58 58 11.5 64 44.399 315 2.90

« £ EAI Unit of Length (mm)

B794 €€ RN




(> 1SC-65 EHHIE R BRER

CHAIN B SC-65 INTERCHANGEABLE LIVE CENTER FOR HEAVY TURNING

HEAOWAY

LernmmA

| SC-65H

(I
il ||||| L]

Fig.1 ) EI

by "

L
| SC-65HA
A
4
& ‘ U e
= I3 I2 | I1
T
| 4% Feature
-IEREFERAARRIERF -Use of large center adoption for increasing strength.
- BRHKINEE - NEESELEL -Function of waterproof and heat dissipation.
COEET RN ERES -Regular oiling can increase the service life.
- TELFRE SKS2( T1E4M) -Center adoption is made of SUJ2 (tool steel).
_ ]E‘/u\/l)@mmﬂa S45C o -Center mandrel is made of S45C.
%igz”féfg ?gp -Static accuracy: 8y.
T REERIRIS _ -SC-65HA type launch with a nut body lightweight and convenient,
- SC-65HA U . FRUBIBH A REEIS 5 8 - REEEFTE preventing ammed shut, y el
A S 4 - E8
Included ‘T}E‘“gj Fig.  (KGS)
Accessories Weight
SC-65H-MT4 MT4 H#A 4000 178 108 56 14 68 |31.267| 31.6 1430 | 2700 1 3.16
SC-65H-MT5 MT5 H#4 4000 | 205 135 56 14 68 |44.399| 31.6 | 1430 | 2700 1 3.72
SC-65HA-MT4 | MT4 H#4 4000 | 190 104 72 14 68 |31.267| 31.6 | 1430 | 2700 2 3.62
SC-65HA-MT5 | MT5 H#4 4000 | 217 131 72 14 68 |44.399| 31.6 1430 | 2700 2 422

ZHE H A (TERMAZR )H set in drawing Enlarged for rotary center

26T ¢ z101¢ @35

65H-6A 65H-10A 65H-35A
{
2 14‘;* ore]
1
65H-8A 65H-15A 65H-A

aiv

o f=EE I Unit of Length (mm)

e THAIN B795




(o |SC-62 MR TMEBIER (HHIR)

CHAIN B SC-62 OIL INTERCHANGEABLE LIVE CENTER FOR MEDIUM TURNING

HEAOWAY
CEeErmimA
| SC-62H
. d
A
Fig1 o|s 4% [
\ L1
I3 I2 I1
L
| SC-62HA
d

I3 l2 I1
L
| 425 Feature
- BFIKINEE - REESEIEL - Function of waterproof and heat dissipation.
- O B ERERIENE RS - Regular oiling can increase the service life.
- JBSROERERF SUJ2 - Center mandrel using SUJ2.
- BB Sy - Static accuracy: 5p. ) ) )
SSC-62HA ! . FRIZIEH L AL S @ - ARELEDT - SC-62HA type launch with a nut body lightweight and

convenient, preventing jammed shut.

- ==

{T&“gj ig  (KGS)

Weight

SC-62H-MT4 | MT4 |4000|212| 108 | 56 | 48 | 68 | 31267 [316]| 60° | 1430 2700 1 220
SC-62H-MT5 | MT5 4000|239 | 135 | 56 | 48 | 68 | 44399 [316| 60° | 1430 2700 1 284
SC-62HA-MT4 | MT4 4000|224 | 104 | 72 | 48 | 68 | 31267 [316]| 60° | 1430 2700 2 260
SC-62HA-MT5 | MT5 4000|251 | 131 | 72 | 48 | 68 | 44399 [316| 60° | 1430 2700 2 3.66

aiv

« £ EAI Unit of Length (mm)

B796 &g&> CHAIN

HEAOWAY




(> 1SC-66 BENTHAXIFEXTER

CHAIN B SC-66 AUTOMATIC ADJUSTABLE LIVE CENTER WITH INTERCHANGEABLE INSERT

HEAOWAY
cemma
| SC-66A
d
Fig.1 i
o i T
\\ | I2 | ! I3
I1

L

| SC-66B

D

d1

60°
VAVAY
Ld ]

Fig.2

I3
.

| 4525 Feature
- TR RSN O (BB iEE T -When workpiece is uneven, tip shaft can be adjusted

_TEA /i automatically to stablize the working process.
R F RIRAAE T B IR - Center tips and Center columns are used interchangeably.

£8

=5 A E 4 = «
EERE included Fig. (KGS) S

g Accessories Weight pec.
SC-6A 0.02
SC-66A-MT4 | MT4 109 | 48 | 10 31.267 1 3.29 SC-6B 0.02
A% @10~060| EHE A 4 SC-6C 0.09
B#H @15~@35| Z#fE B 4 203 685 405 SC-6D 0.03
SC-66B-C40 | @40 92 [82.7| 48 40 2 2.94 SC-6E 008
SC-6F 0.07

Z{4E A #H Asetindrawing Z{4[E B #H B set indrawing

m{ ﬁ SC-6B [ERH4R Q,mI z SC-6E TER1E4R

—— SC-6C EE#HSR m— SC-6F EE#H#5R

aiv

« £E E A7 Unit of Length (mm)

e THAIN B797




aiv

- IsC-67 EEEMABLER

CHAIN W SC-67 FIXED IIVE CENTER WITH INTERCHANGEABLE INSERT

HEAOWAY

cenmnimA

| SC-67A

| sC-67B

RS _— suime BB
EER included ¢ Fig (Gs) [l FEPHE )
8 Accessories Weight pec. Weight
C #A @10~@17 SC-7A 0.18
C#HEHA SC-7B 0.04
SC-67A-MT4 [MT4|D #H @12~@25 D4 F 4 84.6 47 31.267 1 2.22 :
E 43 ©14~330 SC-7C 0.21
184.9 34.3 57 427 | 25 SC-7D 0.42
C A ©10~017 CHER SC-7E 021
SC-67B-C30 | @30 D # 012-025| ~ .. 73.9 28 53 2 | 186 T 022
E 48 @14~330 ! C45xMT4 B
Z{E C 48 Csetindrawing Z{4E D # D setin drawing Z{4 B E 48 E setindrawing Z{4 B F 48 Fset indrawing
rznzI : Sc-7A QZOI ‘ sc-7¢ @251 ‘ SC-7E
C45-MT4

00 [l SC78 08 | eSS SCTD 010] —— SCTF

« £ EAI Unit of Length (mm)

B798 &g&> CHAIN

HEAOWAY




(Z> | SC-100 BNEHHPEBIER (HBMER

CHAIN B SC-100 CARBIDE LIVE CENTER FOR HEAVY TURING

HEAOWAY

LermmA

E=
(KGS)
Weight
SC-100-MT4C MT4 218 108 68 42 63 31.267 34.5 2.98
SC-100-MT5C MT5 255 135 69 51 73 44.399 442 4.02

(G-lsC-60 N BEarEEER

CHAIN B SC-60 LIVE CENTER FOR HEAVY TURNING

HEAOWAY

CEemimA
| SC-60H q
Fig.1
olo ;% [
I3 I I2 | 1
L
| SC-60HA
a d
Fig2 |4+—— —
0|o <€
I3 ! I2 ! 11
L
| 4% Feature
-BitEse - EEME  ERREEHOESSENINT -The rigidity is strong, the stability is good, is suitable for the major
- FASEE @ 5 axis grieving load lathe work.

-Static precision:5p.

B8

di %Egj Fig.  (KGS)
Weight
sceoHMT4 | T4 | | 205 | 108 58 44 78 | 31267 | 343 | 1900 | 1600 1 2.98
SC-60H-MT5 | MT5 244 | 135 64 50 83 | 44399 | 442 | 3000 | 2200 1 402
SC-60HAMT6 | MT6 | 3000 | 342 | 190 | 75 67 108 | 63348 | 60 | 5000 | 3500 | 2 9.96 %

o f=EE I Unit of Length (mm)

e nN B799




> I MT-BNC 2 BITEZR
CHAIN MT-BNC BULL NOSE LIVE CENTER

HEAOWAY

d1
—
d2 e

| 452 Feature

-HRC52° -HRC52°
- B0 E :0.005mm - Concentricity: 0.005mm
- HEE :0.005mm - Roundness: 0.005mm
- M& :S45C - Material: S45C
5=
(KGS)
Weight
MT4xBNC3 2500 179 68 31.267 78 19 60° 2.15
MT4xBNC4 2000 181 70 31.267 106 32 70° 3.10
MT4xBNC5 1900 194 83 31.267 128 35 70° 4.00
MT4xBNC6 1900 204 93 31.267 156 50 70° 7.00
MT4xBNC8 1500 223 116 31.267 206 54 70° 14.5
MT5xBNC5 1900 227 83 44,399 128 35 70° 5.50
MT5xBNC6 1900 237 93 44.399 156 50 70° 7.80
MT5xBNC8 1500 257 113 44,399 206 54 75° 14.5
MT6xBNC8 1500 298 113 63.348 206 54 75° 19.0

(C> ]| SC-48 EEBEIRAR

CHAIN B SC-48 ECONOMICAL INTERCHANGEABLE CENTER

HEAOWAY

LenmnimA

SC-48H-MT4 MT4 1800 186.5 108 53 255 48.5 31.267 295 2.20

ZEl | 48 | setin drawing

e =

48H-6A 48H-10A 48H-30A
oo [ <MY m{@ o - —
>
U 48H-8A 48H-12A 48H-A

« £ EAI Unit of Length (mm)

B800 &> CHAIN

HEAOWAY




ol BEEY LTS

CHAIN B CENTERS ACCESSORIES FORM

HEAOWAY

S EAM(EF:SC-66A) ZFIEIB#E (4 F:5C-66B)
A set in drawing(For use on SC-66A) B set in drawing(For use on SC-66B)

0| S mmm P sceAERFIR 29

SC-6D [ER¥1R

T p. ST — SC-6E TR #4R

(] SC-6C EIE#5R s SC-6F EIZ#5R

SHECHGER:SC-67A/SC-67B) ZED(EF:SC-67A/SC-67B) Z{4EE4A(EMA:SC-67A/SC-67B) Z{+EF4(EF:SC-67A/SC-67B)
Csetin drawing(For use on SC-67A/67B) D set in drawing(For use on SC-67A/67B)  E set in drawing(For use on SC-67A/67B) F set in drawing(For use on SC-67A/67B)

12] 1 SC-7A @201‘ SC-7C @251«‘ SC-7E
ﬁms-mm

06 [=t—mmme—m 5C-7B I8 =—=—s==m_g SC-/D (101 —==—=====SC-7F

EHEGH(TERDEY)(HEA:SC-61/SC-68) SHEHATERMAE)(ER:SC-65)
G set in drawing - Medium(For use on SC-61 / SC-68) H set in drawing - Enlargement(For use on SC-65)
— R e, P % A;/‘
@61&‘;3 @10}% 235§ QSI@ mo}t 235 '
61H-6A 61H-10A 61H-35A 65H-6A 65H-10A 65H-35A
@8 I*:a 01SI - s I‘; @151¢ w
61H-8A 61H-15A 61H-A 65H-8A 65H-15A 65H-A

EHEIH(ER/NEY) (EA:SC-48H)
| set in drawing - small(For use on SC-48H)

%10 210] <M== @30{&

48H-6A 48H-10A 48H-30A
os <Ml =2 9121& © ~u—
48H-8A 48H-12A 48H-A

aiv

o f=EE I Unit of Length (mm)

& aN B8o1




aiv

e
FEAAY

HKS SHBE M

HKS POWER PRESSURE SOFT JAW

I:

1.3
025 |71
|~ [=-0.15
of |
KE
g<

Ie
A
o)

REREE

£ (KGS)

Sprration Pitch

HKS-5 62 23 30 10 4 18 14 38 M8
HKS-6 73 31 36 12 20 37 M10
HKS-8 95 35 38 14 22 25 46 M12
HKS-10 110 40 42 16 > 27 30 50 M12
HKS-12 129 50 50 18~21 30 30 60 M16
HKS-15 165 62 62 22 8 38 43 85 M20

1.5x60°

Weight

5" JHEELE MR %% Spec. table

8" HEEE MR %k Spec. table

E8 (KGS) B8 (KGS)
Weight Weight
HKS-5x62x23x30 62 | 23 30 - HKS-8x95x35x37 95 35 37 .
HKS-5x62x23x50 62 23 50 - HKS-8x95x35x37x60 95 35 37 -
HKS-5x62x23x70 62 | 23 70 - HKS-8x95x35x37x90 95 35 37 -
HKS-5x62x23x80 62 | 23 80 - HKS-8x95x35x37x120 95 35 37 -
HKS-5x62x23x100 62 | 23 100 - MG, 95 e = -
HKS-8x95x35x50x60 95 35 50 -
6" JHE4E RT3 Spec. table HKS-8x95x35x50x120 95 35 50 -
%V%eggKl'iS) HKS-8x95x35x60 95 35 60 -
KO- 3 136 = 31 % - HKS-8x95x35x60x60 95 35 60 -
HKS-6x73x31x36x60 | 73 | 31 | 36 HKS-8x95x35x60x90 ” 3 €0 -
HKS-6x73x31x36x90 73 31 36 HKS-8x95x35x60x120 95 35 60 -
HKS-6x73x31x36x120 | 73 31 36 HKS-8x95x35x70 95 35 70 -
HKS-6x73x31x50 73 31 50 - HKS-8x95x35x70x60 95 35 70 -
HKS-6x73x31x60 73 31 60 - HKS-8x95x35x70x120 95 35 70 -
HKS-6x73x31x70 73 31 70 - HKS-8x95x35x80 5 35 80 :
HKS-6x73x31x70x60 73 31 70 G e e 3 % -
HKS-6x73x31x80 73 | 31 | 8 - HKS-8x95x35x100 95 35 100 -
HKS-6x73x31x90 73 31 90 -
HKS-6x73x31x100 73 | 31 | 100 - HKS-8x95x35x110 2 35 | 110 -
HKS-6x73x31x110 73 31 | 110 - HKS-8x95x35x120 95 35 120 -
HKS-6x73x31x120 73 31 | 120 - HKS-8x95x35x130 95 35 130 -
HKS-6x73x31x130 73 31 | 130 - HKS-8x95x35x140 95 35 140 -
HKS-6x73x31x150 73 31 150 - HKS-8x95x35x150 95 35 150 R
HKS-6x73x50x31 73 50 31 - HKS-8x95x35x160 95 35 160 -
A alics /3 0 36 - HKS-8x95x35x180 95 35 180 -
HIKS-6x73x50x30 73 1 0 L 50 - HKS-8x95x35x200 95 35 200 -
HKS-6x73x50x60 73 50 60 -
e 635500 73 %0 70 - HKS-8x95x50x35 95 50 35 -
HKS-6x73x60x31 73 60 31 _ HKS-8x95x50x35x120 95 50 35
HKS-6x73x60x36 73 60 36 - HKS-8x95x50x50 95 50 50 -
HKS-6x73x60x50 73 60 50 - HKS-8x95x50x60 95 50 60 -
HKS-6x73x60x60 73 60 60 - HKS-8x95x50x70 95 50 70 -
HKS-6x73x70x36 73 70 36 - HKS-8x95x50x80 5 =0 80 :
oo | 5 Lot | mseomsen | | w | |
S 69535237 o5 T = - HKS-8x95x50x100 95 50 100 -
HKS-8x95x50x120 95 50 120 3.00
HKS-8x95x50x150 95 50 150 -

B802 &> CHAIN

HEAOWAY

« £ EAI Unit of Length (mm)




(> I HKS SHMBEE M

CHAIN o HKS POWER PRESSURE SOFT JAW

HEAOWAY

8" HEEETIR~F % Spec. table 10" HEEA MR % Spec. table
B2 (KGS) B2 (KGS)
Weight Weight
HKS-8x95x60x35 95 60 35 - HKS-10x110x60x40 110 60 40 -
HKS-8x95x60x50 95 60 50 - HKS-10x110x60x50 110 60 50 -
HKS-8x95x60x60 25 60 60 - HKS-10x110x60x60 110 60 60 -
LRSI 25 60 /0 - HKS-10x110x60x70 110 60 70 -
HKS-8x95x60x80 95 60 80 -
S BX95X60x50 o5 0 5 - HKS-10x110x60x80 110 60 80 -
I e oz 0 100 - HKS-10x110x60x100 110 60 100 -
HKS-8x95x60x120 95 60 120 R HKS-10x110x70x40 110 70 40 -
HKS-8x95x60x150 95 60 150 - HKS-10x110x70x50 110 70 50 -
HKS-8x95x70x35 95 70 35 - HKS-10x110x70x70 110 70 70 -
HKS-8x95x70x50 95 70 50 - HKS-10x110x70x70x60 | 110 70 70 -
HKS-8x95x70x60 25 70 60 - HKS-10x110x70x80 110 70 80
Wik oaB k0500 25 /0 70 - HKS-10x110x80x40 110 | 80 40 -
HKS-8x95x80x40 95 80 40 -
RS Bx05B0x50 r %0 = - HKS-10x110x80x50 110 80 50 -
R o5 80 %0 - HKS-10x110x80x80 110 80 80 -
HKS-8x95x80x80 95 80 80 R HKS-10x110x920x20 110 90 90 -
HKS-8x95x90x90 95 90 90 - HKS-10x110x100x40 110 100 40 -
HKS-8x95x100x40 95 100 40 - HKS-10x110x100x50 110 100 50 -
HKS-8x95x100x50 95 100 50 - HKS-10x110x100x60 110 100 60 -
HKS-8x95x100x60 95 100 60 - HKS-10x110x100x100 | 110 100 100 -
lloa 0 HO0 00 2 100 | 100 - HKS-10x110x120x50 110 | 120 | 50 -
HKS-8x95x120x50 95 120 50 -
S B 130X35:0 %0 5 20 - HKS-10x150x40x42 150 40 42 -
RN S 130 35 = - HKS-10x150x40x50 150 40 50 -
HKS-8x150x35x50 150 35 50 R HKS-10x150x40x60 150 40 60 -
HKS-8x150x35x70 150 35 70 } HKS-10x150x40x70 150 40 70 -
HKS-10x150x40x80 150 40 80 -
Lo BRSNS T Spec table - HKS-10x180x40x60 180 | 40 60 -
iﬁeggﬁs ) HKS-10x180x40x90 180 40 90 -
HKS-10x110x40x42 110 40 42 - HKS-10x200x40x50 200 40 50 -
HKS-10x110x40x42x60 110 | 40 42 - HKS-10x200x40x60 200 40 60 -
HKS-10x110x40x42x120 | 110 | 40 42 - HKS-10x200x40x90 200 40 90 -
HKS-10x110x40x50 110 | 40 50 -
HKS-10x110x40x60 110 | 40 60 - 12" HEETSTAR Spec. table
HKS-10x110x40x70 110 40 70 - 2 %V%egg'ﬁS)
HKS-10x110x40x80 110 | 40 80 -
HKS-10x110x40x80x60 | 110 | 40 80 - HKS-12x130x50x50 130 50 50 -
HKS-10x110x40x80x120 | 110 | 40 80 - HKS-12x130x50x50x60 | 130 | 50 50 -
HKS-10x110x40x90 110 40 90 - HKS-12x130x50x60 130 50 60 -
HKS-10x110x40x100 110 | 40 100 - HKS-12x130x50x70 130 50 70 -
HKS-10x110x40x110 110 40 110 - HKS-12x130x50x80 130 50 80 N
HKS-10x110x40x120 110 40 120 - HKS-12x130x50x90 130 50 90 _
Cincinioio | ot |0 | x| | i smasoans | a0 | | o |
HKS-10x110x40x150 110 | 40 | 150 : HKS12:A30x30x110 130 | 50 | 110 -
HKS-10x110x40x 160 110 | 40 | 160 - A AEEDEDEAY 10 | 50 | 120 -
HKS-10x110x40x180 110 | 40 | 180 - HKS-12x130x50x130 130 | 50 130 -
HKS-10x110x40x200 110 40 200 - HKS-12x130x50x140 130 50 140 -
HKS-10x110x40x220 110 | 40 | 220 - HKS-12x130x50x150 130 50 150 -
HKS-10x110x50x50 110 | 50 50 - HKS-12x130x50x160 130 50 160 -
HKS-10x110x50x60 110 | 30 60 - HKS-12x130x50x170 130 50 170 -
:iiigzﬁgzgggg 118 28 ;g - HKS-12x130x50x180 130 | 50 | 180 -
HKS-10x110x50x100 110 | 50 | 100 : AKS12x130:30:170 10 | 50 | 199 -
HKS-12x130x50x200 130 50 200 -
HKS-12x130x80x80 130 80 80 - %

o f=EE I Unit of Length (mm)

& nN B803




aiv

(> I HKS SBEE M

CHAIN B HKS POWER PRESSURE SOFT JAW

HEAOWAY

12" HERA MR % Spec. table 15" JHERAE MRS 5& Spec. table

HKS-12x150x50x50 150 50 50 | - HKS-15x165x62x62 165 62 62 -
HKS-12x150x50x60 150 50 60 | - HKS-15x165x62x70 165 62 70 :
HKS-12x150x50x70 150 50 70 | - HKS-15x165x62x80 165 62 80 -
HKS-12x150x50x80 150 50 80 | - HKS-15x165x62x100 165 62 100 | -
HKS-12x150x50x100 150 50 | 100 | - HKS-15x165x62x120 165 62 120 | -
HKS-12x180x50x50 180 50 50 | - HKS-15x165x62x150 165 62 150 | -
HKS-12x180x50x60 180 50 60 | - HKS-15x165x62x180 165 62 180 | -
HKS-12x180x50x80 180 50 80 | - HKS-15x165x62x200 165 62 200 | -
HKS-12x180x50x100 180 50 | 100 | - HKS-15x200x62x70 200 62 70 :
HKS-12x200x50x50 200 50 50 | - HKS-15x200x62x100 200 62 100 | -
HKS-12x200x50x80 200 50 80 | - HKS-15x250x62x70 250 62 70 :
HKS-12x220x50x50 220 50 50 | - - AR P
HKS-12x220x50x60 220 50 60 | - RTRRIER TR
HKS-12x220x50x80 220 50 80 | - Bt plile g

o =
HKS-12x260x50x60 260 50 6 | - B0 S IR
HKS-12x450x40x80 450 40 g0 | - Material: Carbon steel

- Special specification is optional

- Before ordering, please inform the angle

- 120° flat, standard

- 120° sharp, special specification is price optional
- 60° sharp, special specification is price optional

B
S
=
(@]
/i —
L N

(> ISKS3®AEM

CHAIN & SKS POWER PRESSURE SOFT JAW

HEAOWAY

| 4% Feature

-ERREA=NKE E - RITZ2EBRE A8 -Is suitable on the force universal chuck cartridge, the size is the
- M8 S50C - AEEREIR - |IFE - Ol DUBEMBER MR T2 IHF international specification, and has the high plasticity.
I -Material S50C, without heat treatment, no hardness, into various

shapes and sizes can be trimmed to clamp workpiece.

SKS-6 73 26 37 38.1 | 12.68 | 7.94 | M8x1.25P | 17.45 14 35 3 25 9 1.3
SKS-7 95 31 444 | 1268 | 7.94 | M10x1.5P | 23.5 17 3.8 3 34 11 2.6
SKS-9 110 37 8 54 19.03 | 127 |M12x1.75P| 28 19 4.2 3 34 13 3.6
SKS-12 125 42 54 635 | 19.03 | 12.7 |M12x1.75P| 30.75 19 4.2 3 38 13 55

« £ EAI Unit of Length (mm)

B804 €E> AN




(> | SKS 3 A &M

CHAIN B SKS POWER PRESSURE SOFT JAW

HEAOWAY

6" 384 MR Spec. table 12" A4 MR TR Spec. table

SKS-6-73-25-37H 73 25 37 - SKS-12-125-40-54H 125 40 54 -
SKS-6-73-25-50H 73 25 50 - SKS-12-125-40-70H 125 40 70 -
SKS-6-73-25-60H 73 25 60 - SKS-12-125-40-80H 125 40 80 -
SKS-6-73-25-70H 73 25 70 - SKS-12-125-40-90H 125 40 90 -
SKS-6-73-25-80H 73 25 80 - SKS-12-125-40-100H 125 40 100 -
SKS-6-73-25-90H 73 25 90 - SKS-12-125-40-120H 125 40 120 -
SKS-6-73-25-100H 73 25 100 - SKS-12-125-40-150H 125 40 150 -
SKS-6-85-32-32H 85 32 32 - SKS-12-125-40-180H 125 40 180 -
., SKS-12-125-40-200H 125 40 200 -
7 SBAZEIVS S 3 Spec. table SKS-12-180-40-60H 180 40 60 -
SKS-12-200-40-60H 200 40 60 -
SKS-12-230-40-60H 230 40 60 -
SKS-7-95-31-48H 95 31 48 - SKS-12-250-50-60H 250 50 60 -
SKS-7-95-31-60H 95 31 60 - 15" A4 MR 3 Spec. table
SKS-7-95-31-70H 95 31 70 -
SKS-7-95-31-80H 95 31 80 -
SKS-7-95-31-90H 95 31 90 -
SKS-7-95-31-100H 95 31 100 - SKS-15-160-50-70H 160 50 70 -
SKS-7-95-31-120H 95 31 120 - SKS-15-160-50-100H 160 50 100 -
SKS-7-95-32-32H 95 32 32 - SKS-15-160-50-120H 160 50 120 -
SKS-7-95-50-56H 95 50 56 - SKS-15-160-50-150H 160 50 150 -
2K5-7:150-31-50H 150 31 >0 - - SKS-7 £2 SKS-8 3 SKS-7 and SKS-8 altogether use
I 700 ] 180 31 | 50 i - SKS-9 £ SKS-10 3£ SKS-9 and SKS-10 altogether use.

9" B ANHE MR Spec. table

SKS-9-105-32-32H 105 32 32 -
SKS-9-105-32-32H-60 105 32 32 -
SKS-9-110-37-48H 110 37 48 -
SKS-9-110-37-48H-120 110 37 48 -
SKS-9-110-37-60H 110 37 60 -
SKS-9-110-37-70H 110 37 70 -
SKS-9-110-37-80H 110 37 80 -
SKS-9-110-37-100H 110 37 100 -
SKS-9-110-37-120H 110 37 120 -
SKS-9-110-37-130H 110 37 130 -
SKS-9-110-37-150H 110 37 150 -
SKS-9-110-37-180H 110 37 180 -
SKS-9-110-37-200H 110 37 200 -
SKS-9-110-54-56H 110 54 56 -
SKS-9-150-37-50H 150 37 50 -
SKS-9-150-37-60H 150 37 60 -
SKS-9-150-37-80H 150 37 80 -
SKS-9-180-37-60H 180 37 60 -
SKS-9-200-37-50H 200 37 50 -
SKS-9-200-37-60H 200 37 60 -
SKS-9-200-37-80H 200 37 80 -

aiv

o f=EE I Unit of Length (mm)

e AN B80S




aiv

> | LM-TW B HIRF

CHAIN B LM-TW TORQUE WRENCH

HEAOWAY

LM-TW-25 240
LM-TW-110 350
LM-TW-210 435

16

INEW)

5~25

10~110

42~210

| #%) Example

ZoRBE TIRE , BIFRREE
HEHD - DRt @z -

#7118 . 5~210 Nm

B806 €& CHAIN

HEAOWAY

« £ EAI Unit of Length (mm)




> I LM-DTW Z IR AR E

CHAIN LM-DTW MULTI-FUNCTION TORQUE WRENCH

HEAOWAY

LermmA

gl = =P

7

J(

| #861 Example

| 4525 Feature

- 55k 216 EEEEELE - Special 316 round head design.

- EHEREERAER  AeR4EE LED BREEBER . TR - When application of force achieve object torsion value, red and
ElEE . EREHEE - NeRBENEmERy e green LED will light at the same time, and emit long bip sound,
_ ,;-f{,ﬁﬁ@ = reminds the user, in order to avoid surpasses the torsion value to
o~ create the thing damage.
- Convenient to operate .
48 #/NE 58
Spec L (N.m) (KGS)
RES Torque Weight
LM-DTW-135 360 10-135 1.56
LM-DTW-200 530 16 20-200 1.96
LM-DTW-340 740 34-340 234

| #E6) Example
HERR & NBEEIE
. Screen demonstration & Function demonstration

16 AL : -
TERERSHEFHE Handle

216 Modularity:May replace
effectively diverse wrench type.

TrEEE

Battery room top plate

4 LED & #RAOBAIT®m ZRHE % R EH
Red LED lamp Torque unit Evolutionbutton  Caution torque% hypothesis button
change-gver

) FERAEZIEHM
Non inclusive battery
)EHHE 6
Number of battery: 6pcs
) Bthi51E Battery specification:
B -4 it / KIE -7 SiEM
Taiwan - No.4 battery/China - No.7 battery

B :10.5mm

Diameter:10.5mm
B LEDE Bk iR R BAERTE / #F
Green LED lamp Delete Gradually draws Torque setting/ storage

back button

aiv

o f=EE I Unit of Length (mm)

& RN B807




aiv

(e | izmEEEE (BARFA)

CHAIN @ NUT ADAPTERS FOR EXCHANGEABLE TORQUE SPANNER

HEAOWAY

LEermmaA
| $2084% F Nut Spanner
D i 17118 Torque B e #7718 Torque
Form Spec. N.m ft-lbs Form Spec. N.m ft-lbs
‘ SKS6-LH 25 18 H ER11M-LH 20 14
Wt ER16M-LH 30 21
L SKS10-LH 45 33
gy ER20M-LH 40 24
L@ SKS16-LH 70 51
x ER25M-LH 60 29
w SKS25-LH 100 73
‘ ER16A-LH 40 30
‘ SKS6W-TDQ 25 18
‘ ER20A-LH 60 44
c SKS10W-TDQ 4 3 @ |ER2S-UMCKMALHRD| 80 59
o SKS16W-TDQ 20 51 x ER32-UM - KM-LH/RD| 170 125
{ ER40-UM - KM-LH/RD| 130 95
O SKS25W-TDQ 100 73
Q ER11W-TDQ 20 13
=’ MLC20-LH 60 45
e ER16W-TDQ 68 50
b MLC32-LH 80 60
c ER20W-TDQ 102 75
X MLCA42-LH 110 80
0 ER25W-TDQ 80 59
b HOE2E A 200 147 O ER32W-TDQ 170 125

« £ EAI Unit of Length (mm)

B80S ['E‘ CHAIN

HEAOWAY




(> | i2EeEiEmE (|ARER)

CHAIN B NUT ADAPTERS FOR EXCHANGEABLE TORQUE SPANNER

HEAOWAY

[
=
\
Fig.1 .|/
Q |\ A
Fig.2 o
| €61 Example
L _ ]
|
| 4525 Feature
- BEHRNIRFER -Please use it with torque spanner.
- SERE  RESHEZERNE -Set standard value for nut clamping torque, please see the type as
- BERTEHENE  IUBENIRES  #ERAR5HR - O below for your reference.
AERHIELRZIRR -Due to setting power in advance, it can prevent tool dropping

when processing. Not easy to loosen for tightness and make the
collets elastic fatigue.

=g
Nut

SKS6-LH 18 25 18 SKS6-NUT 1 0.08
SKS10-LH 30 45 33 SKS10-NUT 2 0.16
SKS16-LH 40 70 51 SKS16-NUT 2 0.18
SKS25-LH 55 100 73 SKS25-NUT 2 0.20
SKS6W-TDQ 18 25 18 SKSé 3 0.16
SKS10W-TDQ 30 45 33 SKS10 3 0.26
SKS16W-TDQ 40 70 51 SKS16 3 0.30
SKS25W-TDQ 55 100 73 SKS25 3 0.38

MLC20-LH 46 60 45 MLC20 2 -
MLC32-LH 64 80 60 MLC32 2 0.22
MLC42-LH 65 110 80 MLC42 2 0.22
EOC25-LH 60 200 147 EOC25 2 0.30

aiv

o f=EE I Unit of Length (mm)

& nN B809




e | izmEEEE (BARFA)

CHAIN NUT ADAPTERS FOR EXCHANGEABLE TORQUE WRENCH

HEAOWAY

1 U

//
Figs | e | Fig.4 IS T,

Fig.2 / DR T —
3\ / -
\, 1

| [E— | E—
Ao |
\\
| 261 Example
| 4% Feature
- BERHENIRFEA -Please use it with torque spanner.
- 2ERFE  RERERIEHRNE -Set standard value for nut clamping torque, please see the type as
- ?E?j%%f?_ﬁﬂ%ﬂ@ ORI TR - HERARSRE - O below for your reference.
A EERRE LR Z BT -Due to presetting torque value, it can prevent tool dropping

when processing. Not easy to loosen for tightness and make the
collets elastic fatigue.

i 11& Torque BL & 0210 (%(;ig)

N.m ft-Ibs Nut Weight
ER11M-LH 16 20 14 ER11M 1 0.09
ER16M-LH 22 30 21 ER16M 1 0.10
ER20M-LH 28 40 24 ER20M 1 0.10
ER25M-LH 35 60 29 ER25M 1 0.10
ER16A-LH 25 40 30 ER16A 2 0.14
ER20A-LH 30 60 44 ER20A 2 0.20
ER25-UM + KM-LH/RD 42 80 59 ER25-UM/KM/RD 3 0.25
ER32-UM * KM-LH/RD 50 170 125 ER32-UM/KM/RD 3 0.30
ER40-UM * KM-LH/RD 63 130 95 ER40-UM/KM/RD 3 0.40
ER11W-TDQ 18 20 13 ER11 3 0.16
ER16W-TDQ 30 68 50 ER16 4 0.26
ER20W-TDQ 34 102 75 ER20 4 0.26
ER25W-TDQ 42 80 59 ER25 4 0.30
ER32W-TDQ 50 170 125 ER32 4 0.34

aiv

« £ EAI Unit of Length (mm)

B810 &> CHAIN

HEAOWAY




CHAIN B INDEXABLE WRENCH FOR PULL STUD

HEAOWAY

I BRI BEIRTF

LermmA

‘ L
| 4525 Feature
- Ol IERERY DEE - SHIEITUEE -Apply appropriate torque to lock the pull stud.
=g
Pull Studs
PS-BT30-LH 58 16 BT30 fiIg8 0.14
PS-BT40-LH 72 16 BT40 88 0.20
PS-BT50-LH 80 16 BT50 #1788

| 261 Example

LM-TW-25 DR F

LM-TW-25 Torque Wrench

PS-BT40-LH E#{UsR ik F

PS-BT40-LH Indexable Spanner For Pull Stud

BT40 I8
BT40 Pull Stud

aiv

« £E EAI Unit of Length (mm)

{z-THAIN Bg11

HEAOWAY




(> | CHW-SK #5 FE 4 8 &

CHAIN @ CHW-SK SPINDLE MASTER

HEAOWAY

cenmnimA

B
go forward

9 backward

%0 &

EBHER EME
spindle rotatory ~ spindle position

| #861 Example

RIEJ R A=

Correction insert tolerances

RIETDRRAE

Correction insert tolerances

RIEERAE

Correction collet tolerances

RIETIE =

Correction shank tolerances

| 32125518 Operation Instruction

- BERIEREEIRE  BETHMERBR

- T EEESE - EUIE A EE S

- 22 FSARIE - (K9 15m/m R ) L REEBRIERS
- T8 EEEROARR  BoEE)EH

- BEEENRENE - Bloiais RRIE

ERENE  FREZENIEESHB/IRAIZMEE

-Check and ensure the aligner bar is standard. Turn the spindle and
seeif itis clean.

- Position the fixing key on spindle, turn right and fix the spindle.

- Lock and regulate the screw, (depth about 15m/m) locking nut.

- Turn the fixing key to the left. Turn the spindle.

- Place the scale at the testing position. Test and calibrate.

- When measuring with the scale, be sure to grasp the highest point of
the test rod probe contact point.

JFEE18 Notice

- RIERENBBRKEEELE - Calibration seat must be placed on a horizontal bracket.
CHEEE . =R 20° +10°A 5 - Place purifying, the temperature is maintained around 20°+ 10°
| P UG T RE ST BURT AR - Do not knock or touch the calibration seat.

- Kept clean and regular testing, maintenance.

- The scale is placed on the testing position. Test and calibrate.

- Scale measurements, be sure to grasp the highest point of the test
rod probe contact point.

- BRREERERESRA - RE
HERENR %ﬂﬂ%i BN o]t B RAXLE
-BREAE  BEEERINEESLSENEEY

aiv

LS

Rod Screw
CHW-SK30 NT30/BT30 650 500 210 M12x1.75P 50.0
CHW-SK40 NT40/BT40 680 500 240 M16x2.0P 70.0
CHW-SK50 NT50/BT50 900 700 260 M24x2.0P 110.0

X BRI 52 98 sT B8 Spindle test bar is ordered separately.

B812 €E&> AN

o f=E B Unit of Length (mm)




(- ILM-OM-PHC3125R ¥ 2 AIERIE &

CHAIN B | M-OM-PHC3125R OPTICAL TOOL PRESETTER

HEAOWAY

CHAIN

HEADOWAY

| 261 Example

() Z#h7+B&F& Shifting Structure of Z-axis () X#{I#F ik Shifting Structure of X-axis

FBRBITARETSNZERE XK 78 FRRIEERE

Use pneumatic components to measure the large movement of the bracket on the X and Z axes.

(@ 1r2:#48 Fast Moving Device

BRREBITHAETSRTEE XE K Z8 L KIEERS

Use pneumatic components to measure the large movement of the bracket on the X and Z axes.

0O HYRASREESY - €85 4548 All adopt high-precision linear rail and double slider structure

Xeh & Zef I9IRASIBERE - €BR 418 - BREASH LWIEES

Both X-axis and Z-axis adopt high-precision linear rail and double-slider structure to ensure long-term measurement stability.
F{2 2118 Projection Measuring Structure

BC S R iR oA K s AR AT E AR

Equipped with Zaiyuan's new lens and high-resolution camera.

(@ Z% Screen

FBRENRGUETNEEERT ZHE - WEEBSNEE 2 REETEIRH L CNCRMIERZEE

The image measurement system can measure the important dimensions of the tool, and can sort the measured tool length and
output the CNC tool length compensation code.

18 aEs
Spec. LM-OM-PHC3125R Weight of Machine 110Kg
SRIEEE Hf%€Diameter(X) : @125mm EiR
Range of Measuring = EHeight(Z) : 70~300mm Power 220V 50-60Hz 15A
AR~ RLx E(W)x &(H) TEMER (i) 50/60Hz+5%
Size of Machine 790x450x810mm Size of Tool Cabinet (Optional) =270
SHEE TEIEEESE
Accuracy of Measuring 0.005mm Weight of Tool Cabinet 8>Kg
| 2Z#C Standard | A2 Optional Accessories
BR =B g B £ 18
Image Description Spec. Image Description Spec.
BTS0RI 2=
— BT50 Testing Bar BT50-TS170L LEE LM-PHC-0011
Tool Cabinet
i— TIN5 RS
- . W50
’ Spindle Cleaner Bar BT50 - BT40
F— Y THERE
VAN B ) Spindle Adapter
Hex Wrench set LM-PHC-0012 BT50 - BT30

aiv

o f=EE I Unit of Length (mm)

& nN B813




(> JLM-OM-PHC3125R 2SR E &

CHAIN B LM-OM-PHC3125R OPTICAL TOOL PRESETTER

HEAOWAY

LenmnimA
N

=) JJ]‘j‘;T:t Measurement method NEﬂVVI
BERTIERE - BREEERE

Simplify the adjusting time of cutting tool, reduce the production cost.

O EENIMIETEN - SEREEV)SE @ o BB ETAZERIIR#E
EIZ44HEHE - AEBETHES - EREMERBNRE

There’s no interference when you adjust the height of cutter because you
can adjust and lock the insert screw directly, measure it from the outside of
machine. It is able to raise the efficiency of measurement.

JBERIE o BESA
Insert height correction Angle Measuring

JITJMEAZIE ' E=zipill
Blade outer diameter Radius Mearuring
correction

JIJ R

Tool Length Compensation

ﬁﬂ E%E%I}] ﬁE&ﬂ% Eﬂj Main functions and features of the software

nw

BEfE+F4E  BEEMNRMUE oIFHERENSHHE oEZBHSHEA JRRIIEZHAE
With dynamic crosshairs, The measurement range can Optional multiple Measurement of cutter
the position of the tool tip can be freely selected manually measurement modules length and diameter

be accurately positioned

JEmEZA=E JEEAZAE RREY - OB ) BV ORE HIBASETENEZ IR

Tool angle measurement Tool fillet measurement BRARRE 4 CNCIRMIEZEIE
Turn on the positive light, you Sort out the tool length of the
can view the actual state of the tool after measurement and
cutter edge surface output the CNC tool

length compensate code

aiv

« £ EAI Unit of Length (mm)

B814 €& CHAIN




> JLM-CM-PHC3160 lR2 8 y R EE

CHAIN B | M-CM-PHC3160 MICRON GRADE TOOL PRESETTER

HEAOWAY

LermmA

NEW

S
160
380
| 4524 Feature
- ZERF ok e E T BHIRENER -Install a dial indicator to detect the deflection of the cutting tool.
-EEEsERIUETIEZIREN -With height gauge, the length of cutting tool can be measured.
- BRI ERET] - ET)STEMREEE -Conveniently adjust settings for close-tooth cutters, boring

- REEBIEMEZRMINEE - SR EMNEERBE cutters and other tools.
-The pneumatic structure increases the vacuum adsorption
function to improve the positioning repeatability of the tool bar.

SHAEE Hass KRB
Accuracy of Weight of Atmospheric
Measuring Machine conditions

EHEE HWaSNER~

Range of Measuring Size of Machine

LM-CM-PHC3160-BT30

M . B&Diameter(X) : @160mm | £(L)x B(W)x &(H) R
LM-CM-PHC3160-BT40 B Height(Z) : 300 mm —424.5¢ 220 x 22525 mm 0.003mm 37.5Kg 0.4~0.6 Mpa

LM-CM-PHC3160-BT50

| ¢ Standard | E &M Application

B~ Image %18 Name 18 Spec.

u& FEERE W30 - W40 -
Spindle Cleaner Bar W50

| # A Option

B~ Image %18 Name 18 Spec.
e BT30-TS250L
Teft”if*iar BT40-TS300L
9 BT50-TS300L
INE
T RE MITUTOYO-21095-10
Dial Gauge

5 [0 il 1 £
Universal Arm LM-M120
Magnetic Base

5 c. REV
BEA MITUTOYO-570-312 AN
Height Gauge : g
SERLERa T
Comparator LM-MP25-350-C

Stand Column

aiv

o f=EE I Unit of Length (mm)

e THAIN B815




(- ILM-DH JJERE&
CHAIN B LM-DH TOOL PRESETTER

HEAOWAY

cenmnimA

— — —_

g L i

|| wn-r200 e — |
SC— [ [ e
LM-DH3300R LM-DH4400R LM-DH6600R

| #21/F;3 =518 Operation Instruction

- 225N (ZH) REBMERSS  CERERRSER - -Made of super wear resistant aluminum alloy, Z-axis column is

EEpEcAn AeRE mEEe o precision linear scale, the column s easy to operate with higher
-ER R <8 ! accuracy.
SR XE -7 EE%%E*%@%;E CBEEETER « 5 - Z-axis co¥umn is equipped with rapid traverse for higher moving

efficiency. . . o .
- Both X-axis and Z-axis are equipped with high precision D.R.O.
Values shown on the monitor are more accurate and easy to read.

SHIE o 58 41 I < TE#ER~
Measurement range ~ EREEATE zgﬁf‘}??’:g_‘r (#EfC ) TEESS B
; achine size ] 8 . .

HED =EL Resolution (LxWxH) C(Eg)rl)rt\iec:)tnsallz)e Cabinet weight ~ Power supply

LM-DH3300R @300 30~300 0.005 650x320x730 | 700x570x800 60 49
AC 110V/220V
LM-DH4400R @400 30~400 0.005 760x360x860 | 700x570x800 60 50H2/60Hz 75
LM-DH6600R @600 30~600 0.005 860x360x1060 | 800x570x650 60 85
| 2ZHC Standard | £ EC Option

B~

Q

kN

Fig.

=~ [

Fig.

-
A3t BTS0 o .
B (040mm - E 200mmX1 ¥ |58 X2 R | AsRFExL @ |LER XH#E V)
£ =—# #50~#30
N arﬁe Test bar BT50 Dial indicator|Hexwrench |/* "= (X axis & : N veibn
(@40mm . length 200mm) | * 2pcs *1set Y axis 1 ¢ aach Selective accessories| B E
axis 1 set of each) Tool cabinet #50~#30 convert sleeve

*1 pc

(& |LM-DH 1% E B T E1E
CHAIN B LM-DHTOOL PRESETTER CABINET

HEAOWAY

QJ

o

LM-DH4400-C LM-DH6600-C
TEfEEA%E RI(ExEx5)
Cabinet For Type Size(LxWxH)
LM-DH4400-C LM-DH3300 + LM-DH4400 700x570x800 60.0
2 LM-DH6600-C LM-DH6600 800x570x650 60.0
O

« £ EAI Unit of Length (mm)

B816 €& CHAIN

HEAOWAY




2 [0 iz 14 3= BB

EI-IAIN UNIVERSAL ARM MAGNETIC BASE

HEAOWAY
cemma
we
LM-MO20(t4 1% =0) LM-BOSO(1E# ) LM-MO8O(#tH () LM-M120(#H30)
Mechanical Arm Magnetic Base Mechanical Arm Mechanical Arm
o zm—
LM-020-A LM-080-A LM-100-A LM-120-A
Standard Standard Standard Standard
| 4525 Feature
- BOMBRET - Ao EERAE -Indicators can be set at any point on 360°, very quick and
- B1REE FNAMFARE :08mm 5 ERE R convenient in operation. o
WAL T NEE - BEE TR -On the release lever arm attaches the vemier instrument:

@8mm dove tail trough seat.
-Suitable for clamping various kinds of dial indicator and lever

indicator.
Tl = BE f# B2 R < Base Dimension (mm) AR £
Holding Power Arm Length EL &5 W =Y Tapped Hold V(\;ia?srzt

< = =) g

LM-020-A 20kg - - 35 30 35 M8x1.25P 0.2
LM-080-A 80kg - - 60 50 55 M8x1.25P 1.05
LM-100-A 100kg - - 75 50 55 M8x1.25P 1.15
LM-120-A 120kg - - 85 50 55 M8x1.25P 1.32
LM-B080 80kg - - 60 50 55 - 1.60
LM-M020 20kg = Mechanical 185mm 35 30 35 M8x1.25P 0.24
LM-M080 80kg = Mechanical 340mm 60 50 55 - 1.50
LM-M120 120kg = Mechanical 340mm 85 50 55 - 2.20

rod EIEEDY 1

rHAIN | ACCU STAND

58 (KGS)
Weight

0.20

LM-AS-1060

aiv

« £E E A7 Unit of Length (mm)

(> THAIN Bg17

HEAOWAY




(E: |LM-MP25-250 BEMRLLAE

cHAIN ll LM-MP25-250 HIGHT GAUGE COMPARATOR

HEAOWAY

LenmnimA

NBW

B2 Fin

Stand Hand Wheel

EEERFH

Gauge Hand Wheel

250

290

40

150
200

I 4585 Feature

- BERE, AEUERE , FHEES B - It’s easy to use and maintain that it wouldn’t be rusty. The accuracy is stable.
- TR G , MNP EL , Il , RIRREU) , REFE/N - Acid-resistant, corrosion-resistant, anti-magnetic, small coefficient of
- TEERAESN B ERREEEMN, ASEEDAL, thermal expansion, small temperature coefficient.
EREHSRERSE - Only pits will be created after a collision or slip on the work surface. There
- IR BAEEAME, BEnE wouldn’t be deformation and burrs to affect the measuring accuracy.

- U PR BRRET ﬁz%*m'ﬁl RIEEIEHE

‘knﬂ

- The column is made by stainless steel to avoid corrosion and rust.
- The rack design of column can avoid the damage from gauge caused
by rapid fall.

@ [t M12-45L N iE44%

#1& Spec. FEFAR~ mm
LM-MP25-250 150*200*40 250 90 6.2
Foik Btk
LM-MP25-250M 200*300*40 250 90 -

aiv

« £ EAI Unit of Length (mm)

B818 €& AN




e | THEEms

CHAIN WORK STOP TOOL

HEAOWAY

| #%) Example

MAS-160B

0.85

X #a) 360° A EEE 5 Universal 360° wide range of use

ol I B E:

CHAIN B MIST COOLANT

| %61 Example

MCS-B 500m/m

0.72

€

« £E E A7 Unit of Length (mm)

ey B819

aiv




aiv

(e )| 8% 7] 704 FE

CHAIN B TOOLING SHEATH

HEAOWAY

| 261 Example

s
Spec.
TC-30S 0.07
TC-40S 0.07
TC-50S 0.10
TC-HSK63S 0.04

el BEEEE:

CHAIN TOOL CARRIAGE

HEAOWAY

TR =
Qty
TC-30 32 40
TC-40 28 40
TC-50 20 40
TC-HSK63 24 40
TC-HSK100 19

X A& R JJE Does not include display tools
X AEEEINI

B820 &> CHAIN

HEAOWAY

« £ EAI Unit of Length (mm)




e | GP E#HFTR

CHAIN B GP VISE PARALLEL SET

HEAOWAY

| €61 Example

FEEH AT AR
VISE PARALLEL

ExBExEx#8=

ExExEx8=

5x16x100x 2 8.5x14x150x 2
6x18x100x2 8.5x 16 x 150 x 2
8x24x100x2 8.5x20x150x 2
10x30x 100 x 2 8.5x24x150x2
GP-18 12x36 x 150 x 2 10.0 GP-150 8.5x30x150x2
14x48x 150 x 2 8.5x32x150x2
18 x60x 150 x 2 8.5x36x150x2
22x62x150x2 8.5x40x150x 2
15x31x200x 2 8.5x44x150x2

« £E E A7 Unit of Length (mm)

[

CHAIN B821

HEAOWAY

aiv




aiv

&

CHAIN
HEAOWAY

ErEREBH
CLAMPING KIT

=1

FLENZHE
Collar Nuts

SEERIRA

Double-Headed Screw

TEUZENE
T-Slot Nuts

BB ER
Step Clamp

—— R

Universal Step Block

?

EEN T AL BRI

Movable Collar Nuts

AELE

18

Collar Nuts 55 B i

SRR
Double-Headed Screw

i

REAIRIE

Step Block

[Universal Step Block

=4

Coupling Nuts

L JEENTALELIRNE
Movable Collar Nuts

B822 &>

AL EYIZE
Collar Nuts

LHERM

Double-Headed Screw

5 BY B AR
Step Clamp

?

R
Universal Step Block

CHAIN
HEAOWAY

L EENTU AL BRI

Movable Collar Nuts

« £ EAI Unit of Length (mm)




- VE®RBEHA
CHAIN CLAMPINGKIT

HEAOWAY

ABY) : Contents:
-24 (B EGEIE4 -24 double-headed screws:

spec.ininch: 3" 4" 5" 6" 7" 8" 4pcs of each.
spec. in metric: 75, 100, 125, 150, 175, 200mm 4pcs of each.
-6 T-shot nuts

HEHIRMIERERER 3" 4" 5" 6"-7"-8"84X%
NHIBAAERIERER 75 ~ 100 ~ 125 ~ 150 ~ 175 ~ 200mm & 4 %

-6 &8 T BU32 18

-6 &AL B2 NG -6 Collar nuts

-4 (& EaRNg -4 Coupling nuts

-12 B4R -12 universal step block
-6 fEE T B -6 step clamps

224l (inch)

PK-103A 3/8"-16UNC 7/16" 1/2" 7/32" 11/16" 7/8" 1" 10.2

PK-103B 3/8"-16UNC 1/2" 1/2" 9/32" 7/8" 7/8" 1" 10.2

PK-104A 1/2"-13UNC 9/16" 5/8" 11/32" 7/8" 1"-1/8" 1" 12.36
PK-104B 1/2"-13UNC 5/8" 5/8" 11/32" 1" 1"-1/8" 1" 12.36
PK-105A 5/8"-11UNC 11/16" 3/4" 7/16" 1"-1/8" 1"-7/32" 1"-1/4" 12.46
PK-105B 5/8"-11UNC 3/4" 3/4" 15/32" 1"-1/4" 1"-7/32" 1"-1/4" 12.46
PK-206A 3/4"-10UNC 13/16" 1" 9/16" 1"-9/32" 1*-1/2" 1"-1/2" 18.20
PK-206B 3/4"-10UNC 7/8" 1"-1/8" 9/16" 1"-3/8" 1*-1/2" 1"-1/2" 18.20

2] (mm)

CK-10 M10x 1.5P 115 12 6.8 17.5 22 25 10.2
CK-12A M12x 1.75P 13.8 16 22 28 25 10.5
CK-12B M12x 1.75P 13.8 16 22 28 32 114
CK-16A M16 x 2.0P 17.5 19 11 28 31 25 134
CK-16B M16 x 2.0P 17.5 19 11 28 31 32 14.3

CK-20 M20x 2.5P 21.7 28 14 35 38 38 29.0

CK-24 M24 x 3.0P 27.5 36 18 44 49 50 63.0

o f=EE I Unit of Length (mm)

& nN B823

aiv




ol WSS

CHAIN T-SLOT NUT

HEAOWAY

| 4% Feature
-OlleE R -~ mhl T EEFER -With the mm - inch T-slots to use.
il (inch)

3/8-T-S 7/16" 1/2" 7/32" 11/16" 7/8" 3/8"16 0.02
3/8-T-M 1/2" 1/2" 9/32" 7/8" 7/8" 3/8"16 0.03
3/8-T-L 9/16" 5/8" 5/16" 7/8" 1"-1/8" 3/8"16 0.05
1/2-T-S 9/16" 5/8" 5/16" 7/8" 1"-1/8" 1/2"-12 0.05
1/2-T-M 5/8" 5/8" 5/16" 1" 1"-1/8" 1/2"12 0.06
1/2T-L 11/16" 3/4" 7/16" 1"-1/8" 1"-1/4" 1/2"12 0.09
5/8-T-S 11/16" 3/4" 7/16" 1"-1/8" 1-1/4" 5/8"11 0.08
5/8-T-M 3/4" 3/4" 15/32" 1"-1/4" 1-1/4" 5/8"11 0.10
5/8-T-L 13/16" 1" 9/16" 1"-1/4" 1"1/2" 5/8"11 0.16
3/4-T-S 13/16" 1" 9/16" 1"-1/4" 11/2" 3/4"-10 0.15
3/4-T-M 7/8" 1"-1/8" 9/16" 1"-3/8" 1-3/4" 3/4"-10 0.18
3/4-T-L 1" 1" 5/8" 1"-9/16" 1-3/4" 3/4"-10 0.26
A7l (mm)

M8T 9.7 12 6 16 22 M8 x 1.25P 0.02
M10T 11.5 12 6.8 17.5 22 M10x 1.5P 0.02
M12T-S 13.8 16 8 22 28 M12x1.75P 0.05
M12T-M 15.5 16 8 25 28 M12x 1.75P 0.06
M16T 17.5 19 11 28 31 M16 x 2.0P 0.08
M20T 217 28 14 35 38 M20x 2.5P 0.17
M24T 27.5 36 18 44 49 M24 x 3.0P -

aiv

« £ EAI Unit of Length (mm)

B824 €& CHAIN

HEAOWAY




7> | A BB 0E

CHAIN COLLARNUT

HEAOWAY

| 4% Feature
- OB EEEER 44 - BERER -With the double-headed screw to use.

541 (inch) A (mm)

3/8-F 11/16" 7/8" 17/32" 3/8"-16 0.02 M8-F 13 18 8 M8 x 1.25P 0.01
1/2-F 13/16" | 1*-3/16" | 11/16" 1/2"-12 0.04 M10-F 17 22 13 M10x 1.5P 0.02
5/8-F 1*-1/32" | 1"-3/8" 13/16" 5/8"11 0.08 M12-F 21 30 17 M12x 1.75P 0.04
3/4-F 1*-1/4" 1"-5/8" 1" 3/4"-10 0.16 M16-F 26 35 22 M16 x 2.0P 0.07
M20-F 32 42 27 M20x 2.5P 0.15
M24-F 41 50 32 M24 x 3.0P 0.29

(> 15580 =t 4 B 4 0E

RN B MOVABLE COLLARNUT

=

1
N

— Ola

ana

| 4525 Feature
- EFTYIRERAES AR ITHEYEE -When tighten the screw with workpiece, it won't cause jammed shut
on the bottom to prevent the damage.

22 (inch) Al (mm)

1/2-R 13/16" 1"-1/8" 5/8" 1/2"-12 - M16-R 26 35 23 M16 x 2.0P -
5/8-R 1"-1/32" 1"-3/8" 11/16" 5/8"11 0.10
3/4-R 1"-1/4" 1"-5/8" 1" 3/4"-10 0.17 - .

« £E E A7 Unit of Length (mm)

& RN B82S

aiv




aiv

(e | EEIEE

CHAIN COUPING NUT

HEAOWAY

| 452 Feature
- O A R4  EREEEA

-With the double-headed screw, extended or fixed to use.

il (inch) 2l (mm)
AR 58 15 4% 58
D L T (KGS) 5 T (KGS)
Spec. Wit Slpta Weight

3/8-C 11/16" 1" 3/8"16 - M8-C 13 22 M8 x 1.25P 0.02

1/2-C 13/16" 1-1/4" 1/2"12 0.07 M10-C 17 25 M10x 1.5P -
5/8-C 1"-1/32" 1"-5/8" 5/8"11 0.13 M12-C 21 32 M12x1.75P | 0.07
3/4-C 1-1/4" 1"-7/8" 3/4"-10 0.23 M16-C 26 40 M16 x 2.0P 0.12
M20-C 32 48 M20 x 2.5P 0.23

M24-C 41 63 M24 x 3.0P -

I B
ol R
CHAIN B PLANE CLAMP
F
. ‘ 0 N [

| 4% Feature
- B aHRMER - FERARZSE

#ER5E Range

24l (inch) Al (mm)
SC-3/8-2-1/2 3/8" 2"-1/2" 1" 1/2" 3/4" 3/8" M10 0.12
SC-3/8-4 3/8" 4" 1" 5/8" 1"-3/16" 3/8" M10 0.23
SC-3/8-6 3/8" 6" 1"-1/8" 3/4" 2"-1/8" 3/8" M10 0.50
SC-1/2-2-1/2 1/2" 2"-1/2" 1"-1/8" 1/2" 11/16" 1/2" M12-M14 0.13
SC-1/2-4 1/2" 4" 1"-1/4" 3/4" 1"-7/32" 1/2" M12-M14 0.32
SC-1/2-6 1/2" 6" 1"-1/4" 7/8" 2"-11/64" 1/2" M12-M14 0.64
SC-5/8-2-1/2 5/8" 2"-1/2" 1"-1/4" 5/8" 9/16" 5/8" M16 0.17
SC-5/8-4 5/8" 4" 1"-1/2" 3/4" 1"-3/16" 5/8" M16 0.37
SC-5/8-6 5/8" 6" 1"-1/2" 7/8" 2"-1/4" 5/8" M16 0.68
SC-3/4-4 3/4" 4" 1%-1/2" 3/4" 1"-3/16" 3/4" M18-M20 0.35
SC-3/4-6 3/4" 6" 1"-1/2" 1" 1"-31/32" 3/4" M18-M20 0.74
SC-3/4-8 3/4" 8" 1"-3/4" 1"-1/8" 2"-3/4" 3/4" M18-M20 1.44

B826 €E&> FHAN

« £ EAI Unit of Length (mm)




ol EXE3

CHAIN B COLLARNUT

HEAOWAY

F
A ¢ D
‘ L \
[ |
ﬂ
| 4% Feature
- FAIEER - AERAESE -With the screw jack use, easy to adjust the height.
Z14l (inch)
5=
S*%fﬁ d L W H F (KGS)
' Weight
PC-15-2-1/2 15 2"-1/2" 30 13 16 0.25
PC-15-4 15 4" 32 19 31 0.67
PC-15-6 15 6" 32 22 55 1.2
PC-18-2-1/2 18 2"-1/2" 32 16 14 0.31
PC-18-4 18 4" 38 19 30 0.85
PC-18-6 18 6" 38 22 57 1.47
PC-21-4 21 4" 38 19 30 0.75
PC-21-6 21 6" 38 25 50 1.43
PC-21-8 21 8" 44.5 28.5 70 2.82
PC-26-6 26 6" 50 32 39 1.9
PC-26-8 26 8" 50 38 69 2.75
PC-26-10 26 10" 50 38 74 3.8
e | THIE
CHAIN B SCREW JACK
HEAIOWAY
D
_
<
I
=t e
Ld
| 4525 Feature
-JEHAESE  RRE= -Freely adjusting the level to withstand the weight.
fEFAE5E Range E2 (KGS)
(H~h) Weight
S-70 56 25 32 56~75 0.30
S-150 102 40 50 102~160 1.40
S-250 142 45 55 142~235 3.60

aiv

o f=EE I Unit of Length (mm)

e THAIN B827




e | emgs4

CHAIN i DOUBLE-HEADED SCREW

HEAOWAY

Al (mm)
Tl T 18 . - e
Spec. Spec. Weight
0-3/8-3 3" 3/8"-16 0.03 0-M8-3 75 M8 x 1.25P 0.02
0-3/8-4 4" 3/8"-16 0.04 0O-M8-4 100 M8 x 1.25P 0.03
0-3/8-5 5" 3/8"-16 0.05 0-M8-5 125 M8 x 1.25P 0.04
0-3/8-6 6" 3/8"-16 0.06 0-M8-6 150 M8 x 1.25P 0.05
0-3/8-7 7" 3/8"-16 0.07 0O-M8-7 175 M8 x 1.25P 0.05
0-3/8-8 8" 3/8"-16 - 0O-M8-8 200 M8 x 1.25P 0.06
0-1/2-3 3" 1/2"-12 0.06 0-M10-3 75 M10x 1.5P 0.04
0-1/2-4 4" 1/2"-12 0.08 0-M10-4 100 M10x 1.5P 0.05
0-1/2-5 5" 1/2"-12 0.10 0-M10-5 125 M10x 1.5P 0.06
0-1/2-6 6" 1/2"-12 0.12 0-M10-6 150 M10x 1.5P 0.07
0-1/2-7 7" 1/2"-12 0.14 0-M10-7 175 M10x 1.5P 0.08
0-1/2-8 8" 1/2"12 0.15 0-M10-8 200 M10x 1.5P 0.09
0-5/8-3 3" 5/8"-11 0.09 0-M12-3 75 M12x 1.75P 0.05
0-5/8-4 4" 5/8"11 0.12 0-M12-4 100 M12x 1.75P 0.07
0-5/8-5 5" 5/8"11 0.16 0-M12-5 125 M12x 1.75P 0.09
0-5/8-6 6" 5/8"11 0.19 0-M12-6 150 M12x 1.75P 0.11
0-5/8-7 7" 5/8"11 0.22 0-M12-7 175 M12x 1.75P 0.13
0-5/8-8 8" 5/8"11 0.25 0-M12-8 200 M12x 1.75P 0.14
0-5/8-9 9" 5/8"11 0.28 0-M16-3 75 M16 x 2.0P 0.10
0-5/8-10 10" 5/8"-11 0.32 0O-M16-4 100 M16 x 2.0P 0.13
0-5/8-12 12" 5/8"11 0.38 0-M16-5 125 M16 x 2.0P 0.16
0-5/8-14 14" 5/8"-11 0.52 0-M16-6 150 M16 x 2.0P 0.19
0-5/8-16 16" 5/8"11 0.56 0-M16-7 175 M16 x 2.0P 0.22
0-5/8-18 18" 5/8"11 0.60 0-M16-8 200 M16 x 2.0P 0.26
0-5/8-20 20" 5/8"11 0.64 0-M16-9 225 M16 x 2.0P 0.3
0-3/4-3 3" 3/4"-10 0.14 0-M16-10 250 M16 x 2.0P 0.32
0-3/4-4 4" 3/4"-10 0.18 0-M16-12 300 M16 x 2.0P 0.38
0-3/4-5 5" 3/4"-10 0.23 0-M16-14 350 M16 x 2.0P 0.38
0-3/4-6 6" 3/4"-10 0.27 0-M16-16 400 M16 x 2.0P 041
0-3/4-7 7" 3/4"-10 0.31 0-M16-18 450 M16 x 2.0P 0.44
0-3/4-8 8" 3/4"-10 0.36 0-M16-20 500 M16 x 2.0P 0.47
0-3/4-9 9" 3/4"-10 0.42 0-M20-3 75 M20 x 2.5P 0.16
0-3/4-10 10" 3/4"-10 0.46 0-M20-4 100 M20 x 2.5P 0.20
0-3/4-12 12" 3/4"-10 0.54 0-M20-5 125 M20x 2.5P 0.25
0-3/4-14 14" 3/4"-10 0.52 0-M20-6 150 M20x 2.5P 0.30
0-3/4-16 16" 3/4"-10 0.56 0-M20-7 175 M20x 2.5P 0.36
0-3/4-18 18" 3/4"-10 0.60 0-M20-8 200 M20x 2.5P 041
0-3/4-20 20" 3/4"-10 0.64 0-M24-3 75 M24 x 3.0P 0.20
0-M24-4 100 M24 x 3.0P 0.3
0-M24-5 125 M24 x 3.0P 0.80
0-M24-6 150 M24 x 3.0P 1.40
0-M24-7 175 M24 x 3.0P 2.00
2 0-M24-8 200 M24 x 3.0P 2.60
O

« £ EAI Unit of Length (mm)

B828 €& CHAIN

HEAOWAY




ol KL

CHAIN B UNIVERSAL STEP BLOCK

HEAOWAY

Y

| 42 Feature

_ORESERER  HERERSE - With the step clamp use, easy to adjust the height.
28] (inch)
ERRE
Suitable fixture
1x1% 3/8" 1"-1/4" 1" 0.06
1x1% 3/8" 1"-3/4" 1" 0.14
1x3% 3/8" 3"-7/8" 1" 0.58
1% x 1% 1/2" . 5/8" 1%-1/4" 1"-1/4" 0.08
1% x 1% 1/2" . 5/8" 1"-3/4" 1"-1/4" 0.16
1% x 3% 1/2" . 5/8" 3"-7/8" 1"-1/4" 0.75
1%x 2% 3/4" 2"-1/2" 1"-1/2" 0.38
1% x 3% 3/4" 3"-7/8" 1*-1/2" 0.39
1% x 5% 3/4" 5"1/2" 1*-1/2" 1.24

Jod EXE

CHAIN WASHER

HEAOWAY

| 4525 Feature
- JEERIZEER - AEHNSENERNRAR

7Y = Type
4t (inch) At (mm)
W-3 3/8" M10 10.3 22 4 0.01
W-4 1/2" M12 13 30 6 0.03
W-5 5/8" M16 16.5 35 10 0.06
W-6 3/4" M20 20.5 38 10 0.06

aiv

o f=EE I Unit of Length (mm)

& nN B829




(> |LM-SG R i 8 8 ofF B %

CHAIN B LM-SG PORTABLE DRILL BIT RESHARPENING MACHINE

HEAOWAY
cemma
LM-SG-213
| =Z=XER 4 Standard mating parts | =R 4+ Standard mating parts
-ER&*%25-3-4-5-6-7-8-9-10-11-12+13mm -ER&%*12-13-14-15-16+17-18-19-20-21 22"
+ 12pcs 23~ 2425 26mm # 15pcs
- CBN AW E #200x1pcs(HSS $BIREFT ) - CBN A #Es #200x1pcs(HSS $#IEEFT )
AL LM-GW-B200(B) WEFARE LM-GW-B150())

- ABIRF 4mmx5Smm & 1pcs - ABIRF 4mmx5Smm & 1pcs
-ERcollets2.5,3,4,5,6,7,8,9,10,11,12,13mm, -ERcollets 12,13, 14,15,16,17,18,19,20,21,22,23mm,

12pcs in total. 24mm, 25mm, 26mm, 15pcsin total.
-CBN Diamond Wheel #200*1pc (For HSS drill use). -CBN Diamond Wheel #200*1pc (For HSS drill use).

Wheel spec: LM-GW-B200(B) Wheel spec: LM-GW-B150(J)
-Hex wrench 4mm*5mm 1pc of each -Hex wrench 4mm*5mm 1pc of each
| 55 5% B 4 Special purpose mating parts | 55 5% B 4 Special purpose mating parts
-SDC $BA#E #400( $SSMiETES A ) -SDC $EAR#Es #200( $5SMIETEEA )

W EHARAE LM-GW-5400(C) W ER#RAE LM-GW-5200(K)
-CBN A E #400(4mm LI T HSS $Z8E=F ) -ER &3 8~12mm - 26~30mm

WEmHRE LM-GW-B400(A) -SDC diamond wheel #200 (for tungsten steel drill use)
-ER &3 2.5 » 3.5mm~12.5mm 11pcs Wheel spec.: LM-GW-5200(K)
-SDC diamond wheel#400 (for tungsten steel drill use) -ER Collet 8~12mm, 26~30mm

Wheel spec.: LM-GW-5400(C)

-CBN diamond wheel#400 (for use on below 4mm HSS drill use)
Wheel spec.: LM-GW-B400(A)

-ER Collet 2.5,3.5~12.5mm, 11pcsin total

| BB A R0 B

1 gk fiem @ 56 - wise s G me

2. FRAmMmMA BRI 85 0151844 (P e

3. EMIBANG - BSR4 AT

4. %50 PEE - BinEm PDEE

EE BAVHEs PRET . A= R REgrem DRMDE - FOBERT
B MRk

| Procedures for changing the grinding wheel

1. Loosen the side knob@ and open the side cover@.

2.Use a 4mm hexagon wrench to loosen the screw@,unscrew it counter-clockwise.

3.Replace a new diamond grinding wheel and tighten the screw after the wheel is installed.

4.Be sure to close the side cover@and fasten the side knob@ properly.

Attention!

1.Please make sure that the diamond wheel screw @ is tightened, the side cover @ is properly closed,

and the side knob is fastened before turning ON the machine, in order to prevent any hazard from occurring.

2.The machine has an automatic ‘power-off’ device that will automatically turn the machine off when the cover is opened.

484 Spec A BE 6 ] iy =2! BR - HEIR B2 (KGS)
. : Drill Diameter Point Angle rpm Weight
LM-SG-213 @2~013 85°~140° AC110AC220V( 248 ) 200W 6000 9.00
> LM-SG-830 @8~330 85°~140° AC110AC220V/( 247 ) 450W 4000 270
O

« £ EAI Unit of Length (mm)

B830 {g&> CHAIN

HEAOWAY




o

CHAIN

HEAOWAY

LM-SG 1R & I % /] it BE 15

LM-SG PORTABLE END MILL RESHARPENING MACHINE

| {24+ Standard mating parts

- —HBRR

- S RB A
-ER®&%4-5-6-7-8-9-10- 11~ 12 13mm # 10pcs
-2°3 -4 J)KEE—A

- SDC $BAWE #270(@4~5mm B2A) AR LM-GW-S300(E)
-SDC A ER #270(06~13mm ER ) WERARE LM-GW-S300(G)

LermmA

LM-SG-1225

| {2 %54+ Standard mating parts

- —HERE

- — S IRRR AR

-ER& 1216~ 18~ 20 - 22 ~ 25mm %t 6pcs

-2 3 47J)REE—H

- CBN SR M #150(@12~25mm HSS SBEEEA ) W1 LM-GW-B150(R)
- SDC A& #150(@12~25mm $SMMMIBH ) WEHI1E LM-GW-S150(S)

- —EXRBIRF 4mm - —EXRBIRF 4mm
-A set of power line -A set of power line
-Two fuses -One fuse

-ERcollets 4,5,6,7,8,9,10,11, 12, 13mm, 10pcs in total

-2, 3, 4 chuck for flutes, a set of each

-SDC diamond wheel#270 (for use on dia.4~5mm)
Wheel spec.: LM-GW-S300(E)

-SDC diamond wheel#270 (for use on dia.6~13mm)
Wheel spec.: LM-GW-S300(G)

-An allen wrench of 4mm

| 55 5% B 4 Special purpose mating parts

-CBN $EA#ER #270(@4~6mm BA ) WEwHRE LM-GW-B300(D)
-CBN A Eg #270(@6~13mm B ) ##w#E1E :LM-GW-B300(F)
-CBN diamond wheel#270 (for use on dia.4~6mm)

Wheel spec.: LM-GW-B300(D)
-CBN diamond wheel#270 (for use on dia.6~13mm)

Wheel spec.: LM-GW-B300(F)

-ER collets 12, 16, 18, 20, 22, 25mm, épcs in total

-2, 3,4 chuck for flutes, a set of each

-CBN diamond wheel#150 (use on dia.12~25mm HSS Drill)
Wheel spec.: LM-GW-B150(R)

-SDC diamond wheel#150(use on dia.12~25mm Tungsten steel Drill)
Wheel spec.: LM-GW-5150(S)

-An allen wrench of 4mm

| 15 3% M 4 Special purpose mating parts

- CBN #Aa®Es #1502 YJEA ) iR LM-GW-B150(R)-2T
- SDC #A#bEm #1502 YJEA ) W #m#HR1E LM-GW-S150(S)-2T
- ER40-32mm &7k /C32-16 ~ 20 ~ 25mm &3’
-CBN diamond wheel#150 (use on 2T)
Wheel spec.: LM-GW-B150(R)-2T
-SDC diamond wheel#150 (use on 2T)
Wheel spec.: LM-GW-S150(S)-2T
-ER40-32mm collet / C32-16, 20, 25mm collet

s ot BE &5 [ B (KGS)
A& Spec. Drill Diameter Point Angle Weight
LM-SG-413 B4~313 —&EH6° AC110 3/4HP 450W 6000 17.0

—&H 20° AC220V
LM-SG-1225 @12~025 — 3 30° 50/60Hz 1000W 4300 31.0

aiv

« £E EAI Unit of Length (mm)

(> THAIN Bg31

HEAOWAY




(> | LM-SG-SD ' i i 58 i BE 14

CHAIN B LM-SG-SD PORTABLE DRILL BIT RESHARPENING MACHINE

HEAOWAY

cenmnimA

SG7572P Duanren special drill grinding machine
SG-ESS Drills K W JL

SG7572P SETIMAS MRS [T

| =25} Standard mating parts | 15 5% 0 4 Special purpose mating parts
- —HAERL -ER20 5% 35+-45-55-65-75-85+-95-105+115+125
- — R # 10pcs
-PER20f&3#3+-4-5-6-7-8~9-10-11+ 12 # 10pcs( &AL ) -SDC s&H#b#s #300
ER20 53¢ 13 3 1pcs( 1R#ER ) BDER A& LM-GW-S300(N)
- ER20 #ga—#H -ER20 collet 3.5,4.5,5.5,6.5,7.5,8.5,9.5,10.5, 11.5, 12.5, 10pcs
- CBN SBAME #250 WE#HIFE LM-GW-B250(T) intotal.
- CBN SBEA®E #400  WERE LM-GW-B400(M) -SDC diamond wheel#300
- NAIRF 4mm - S5Smm F—X% Wheel spec.: LM-GW-S300(N)
-A set of power line
-One fuse

-PER20 collets 3, 4,5,6,7,8,9,10, 11, 12mm, 10pcs in total (rear
clamping)ER20 collet 13, 1pc (standard)

-ER20 chuck a set

-CBN diamond wheel#250 Wheel spec.: LM-GW-B250(T)

-CBN diamond wheel#400 Wheel spec.: LM-GW-B400(M)

-An allen wrench of 4mm, & 5mm. 1pc of each

Hﬁﬂﬂt%ﬁﬁgﬁﬁﬁmﬁgﬁlgﬁd. —. SHERFTEE AT 488 Procedures for changing the grinding wheel:
oW fo prepare for ari grinding 1 BARREEEE - EREek O B2
2 RENERUEEAERAGIaZER @)
3. EIRIEABRA - WAEHA35mmAER - EATJ#HE
4. B3R VEABR @A B IGEEIE ©) A B RS AR EE T A F et
5. M S RENSE A sEaE R AT ©)
1.Choose a collet accordingly to 0 the diameter of the drill.
2.Insert the chosen collet into the collet holdere at an appropriate angle.
3.Insert the drill through the holder with the tip protruding by 35mm, but do not tighten.
4.Connect the collet nut o to the collet ewhich is locked into the collet holder e Jthen

slowly tighten it making sure that you can still turn the drill with your hands.
5.Complete the steps 1 to 4 accordingly for grinding.

. BRSPS Procedures for changing the grinding wheel:

1 Ak @ B4 BRI T  LEDEE @ mes

2. FHAmmABIRF TR E B15 124 B 555

3. BB AN - BSR4k CAIT]

4. 80HE PEL . TKRs QHE

IR EADRES PAME  WHREDRET B4 QD RESE
AORERITRE - et

1. Loosen the side knob@ and open the side cover@.

2.Use a 4mm hexagon wrench to loosen the screw@,unscrew it counter-clockwise.
3.Replace a new diamond grinding wheel and tighten the screw after the wheel is installed.
4.Be sure to close the side cover@and fasten the side knob@ properly.

Attention!

1.Please make sure that the diamond wheel screw @ is tightened, the side cover @ is properly closed,

and the side knob is fastened before turning ON the machine, in order to prevent any hazard from occurring.
2.The machine has an automatic ‘power-off’ device that will automatically turn the machine off when the cover is opened.

945 Spec o SEIE i &8 (KGS)
o . Drill Diameter Point Angle Motor Weight
AC110
LM-SG-313-SD ?3~013 135° AC220V 200W 4500 12.85
50/60Hz

aiv

« £ EAI Unit of Length (mm)

B832 €& CHAIN

HEAOWAY




(> | LM-SG [E 1% 1) & i & 1%

LM-SG PORTABLE ROUND BAR RESHARPENING MACHINE

CHAIN
HEAOWAY

| 22 #F Standard mating parts
- —HERR
- AR IR P A%
-SDC A Em #100
WEwHRE LM-GW-S100 (X)( #5i= )
- RAERF 4mm -~ Smm -~ 10mm EF—3%
- —HEEE
-A set of power line
-Two fuses
-SDC diamond wheel#100
Wheel spec.: LM-GW-5100(X)(For tungsten use)
-An allen wrench of 4mm, 5mm,10mm. 1pc of each
-A set of handle

P PR Es &
#31& Spec. Cut Range
AC110
LM-SG-316 3mm~16mm AC220V
50/60Hz

LernmmA

| #8%1 Example

Ty

| #53% M 4 Special purpose mating parts

-CBN $&A#bEs #100
WERFARE LM-GW-B100(Y) HSS £H

-CBN diamond wheel#100
Wheel spec.: LM-GW-B100(Y) (For HSS use).

| &% Option

- JK%8 : LM-SG-316-WB
-Water box: LM-SG-316-WB

| %61 Example

13

58 (KGS)
Weight

600w 6000 13.5

aiv

o f=EE I Unit of Length (mm)

& nN B833




